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1)

2)

3)

As per the report of “Children in India 2012- A statistical appraisal”, which of the
following states has the highest number of crimes against children?

(A) Mabharashtra (B) Uttar Pradesh

(C) Tamilnadu (D) Andhra Pradesh

095 &S 208010 2012 - © PERSS epad” A0S HG0, $00 WES® B PS ged
Boved @805 Do SIRDH OPHoaran)?

(A) sossog (B) &85035 (C) swdartcs (D) eorsds
?lx(‘supc_..,z{uéu: eSS heF .L’_..-,;;;“J_Ji{ufuzolZ—Al_.ilug‘f;i!; "
FagpiT (D) s3eht (C) Rzt @ 1 Fue (A

The Central Hindu School at Banaras which served as a nucleus of the Banaras
Hindu University was established by

(A) Madan Mohan Malaviya

(B) Annie Besant '

(C) Bhagawan Das

(D) Swami Shardhananda -

Bt rotie cHRRSEE RHTE oGBS BRERGTD L0YES IR0 ARGR BD
BWOTRED?

(A) oSS s Sros

(BY @005 ¥

©) sond o

(D) & ssmTon y ; :
d WFOL S s L S LT 2 Fn i ook

=H{F (B) S rs (A
Sl fly (D) s ©

Identify the correct sequence in which the following Deputy Prime Ministers were
appointed in India?

(1) Sardar Vallabhbhai Patel (2) Ch. Devilal

(3) Ch. Charan Singh (4) Morarji Desai

3 800 gRUE & T 0808 DRSO HEC L SWHD EHE*S0E?
(1) »p8 Sgaraw 5SS (2) Ch. Boxmd

(3) Ch. <558 206 (4) oo Barow

ALYV Oy B VSV Ay I Y 87
dwdny @ Fuzbs 0 Jipbs @ Sdudios, o

(A) 1,342 (B) 1423 (C) 4,123 (D) 14,32
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Negative marking is there. answer carefully

Consider the following statements:

The most effective contribution made by Dadabhai Naoroji to the cause of Indian
National Movement was that he

1. exposed the economic exploitation of India by the British
2. interpreted the ancient Indian texts and restored the self-confidence of Indians
3. stressed the need of eradication of all the social evils before any thing else.
Which of the statements given above is/are correct?
(A) 1only
(B) 1and 3 only
(C) 2and3 only
(D) 1,2and3
83 800 HiesTRe HOGBowIL.
U8 e80h G FHodE mrERaN TE5E DEHODS BB SwYBONS
L. gdaes grusdos Sy 895 SDER wpoohen Sabto
2. 08 3OS Jomeed DidE00D rsdotuedh 85,259, HItgoodiabio
3. oRoBEOE S0t oY LHOYTCOI ERHIENOD FEIHEO.
P & RS STOS® HO/HD 8,07
(A) 1 8m8dh
(B) 1 oo 3 drgih
(C) 2aoate 3 snEd
(D) 1,2®ocks3
L patd it
L N PRES YA BN RIS AT N
PV 6 Y [ T oy o SRR T 05
t/&tr.}gfd:ﬂu}&t.‘»u:ﬂzr;.ﬁjLu 2
visLd L e Ludiede 3
3n,2 (D) 34125~ (C) 341G~ (B) L~ (A)
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3)

6)

7

egative marking is there, an refully

Match List - I with List - Il and choose the correct answer from the codes given
below.
List-1 List - 11
a)  Chagla Commission 1. Strengthening of all
India Service
b)  Administrative Reforms Commission 2. Ministerial responsibility
¢}  Core Commission 3. Training of IPS

d)  Sarkaria Commission 4. Functional fields of [AS
e - [ D e - 11 8 asdd Hdons DERERRRR BDAR0E.
endme - | apadee - 1]
a) e 52068 . o erss 56700
Do JoHEo
b)  Dodevme Hoik;te S90HS 2. 00g Dowot ergi s
c) 653 BamHS 3. IPS o 85w
d) Ropoie 59RHS 4. IAS o gammss S0

-,ioueiJ._.,mé'z.xL/dPrrj}’._aw:g/u;1| i e g

e d lergd

VT U e S e

Ubiimidnge 2 Hebwigr  »

S AgdT s Mol o

a b ¢ d Fiamslodr 4 s
(A) 3 -4 1 2
(B) 2 4 3 1
(C) 2 3 4 1
(D) 302 4 1

The Nirmal Bharat Yatra “to make the country open-defecation-free and to ensure
proper sanitation in rural India” began from District.

(A) Bijapur (B) Wardha (C) Gulbarga (D) Kolhapur
FROBETR), 3RO SDVDDIS B8 Bdorm SNGE0 5255 Monty Hisas ODHRL (PORED
PETDB AR B OU,S 58 AmED & Bep & PBOBOTRE?

(A) Hepzpb (B) = (C) o (D) &°enips
?J’JCJ;L('JLJJ""Q_L__’;JQJ)J:"#’Lﬁcgf“fdu&?‘fl:r‘u‘!u;l.bq'f:dl?:k
v (D) SE © leass  (B) g A
Which of the following are the Indian Councils Acts?
(1) 1909 (2) 1861 (3) 1813 (4) 1892
(A) 1and4 only (B) 2and4 only
(C) 2,3 and 4 only (D) 1,2 and 4 only
B8 B08 T3S DD 08 27 wSepen?
(1) 1909 (2) 1861 (3) 1813 (4) 1892
(A) 1 svoomo 4 snssd (B) 2svoomw 4 snsh
(C) 2,3 oot 4 spgad (D) 1,2 svooso 4 sessh
s eIl Sy sl St St
1892 4 813 3 1861 2 1909 .1
4l 20,2 (D) 42312,30 2 (C) 43257 (B) 4l (A)
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8)

9

10)

11)

N ive marking i nswer carefull

In the context of revenue administration of the British in India, who of the following
is well-known for his association with Ryotwari settlement and its implémentation?
(A) Jonathan Duncan (B) R.M. Bird.
(C) Sir Charles Napier (D) Thomas Munro
ROBL 0SS Yelpare rexse BB, HOPOE FRE0R TEaS DERIS0 SO0 (oD A
RODOHOD DIDPBBEH 7
(A) &S oSS (B) RM. 5
(C) %6 g% Fwons (D) ok gk

WS EUInIE fE et saf & elb‘.?'l.ég,{_/:,;,.}"/_u:uu- Iy

PUB ® gy © sefd ® Bz @

Which of the following Articles of the Indian Constitution empowers Parliament to
create an All India Service?

(A) Article 300 (B) Article 312 (C) Article 320 (D) Article410
REE PR 0t0e S OPBGE0 B2 PREE HEKLID Yo OPS0R) FRLE0LTB RDHOL?
(A) 300 5 e8550o (B) 312 5 egsiduo
(C) 3208 epsdeo (D) 410 & 0p55H0

'i'k@u@lb’LIﬁj;/&}ldT{;#ﬂ;&ﬁ& IEJTL/LJ:{JJ})
kT O 32E.0 © kT ®  wFT @

Name the English officer who obtained Madras on lease in 1639 from the ruler of
Chandragiri?

(A) Francis Day (B) Sir John Child

(C) Sir Thomas Roe (D) Sir George Oxenden
1639 & Sogide reHemmod Sgernd deth Exu8%] sofab s dBth?
(A) papa (B) w55 3¢

(C) 5 gravd 6% (D) 6 epg 63585

WU bye Ssal naat 2 SIS s L5 Nz S 1639

vHLk, @ s, © 0 Mede, B SIS (A
Who is the present Managing Director of IMF (International Monetary Fund)?

(A) Dominique Strauss Khan (B) Jim Yong Kim
(C) Christine Lagarde (D) Robert Zoellick
wosREaH 53,08 (IMF) Hins Sda08 3855 o5th ?

(A) Poodk, B0 oS (B) & oirob 8
(€) &3 eomd (D) oeaf SSabgs

Sl B sy SOMEBS L SE
Loicss © 340 © AAZ BNy 25 (A
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12)

13)

14)

h nswer I
Which of the following dramas was written by Sriharsha?
(A) Kundamala (B) Priyadarshika
(C) Karpuramanjari (D) Malati-Madhava
S8 36 SDoSHES wbso HOT
(A) Hossire (B) 2antsos
(C) sumBsomO (D) sSmwea-sniss
‘.‘l.f.al;;lifi_l}ﬁd/u‘.'d_’j&u
skt @ $fUgK (© €544 (B) e (A)
Who is appointed as the Chief Executive Officer of the Gorkhaland Territorial

Administration?

(A) Bimal Gurung (B) Roshan Giri

(C) Ramesh Allay (D) Binay Tamang
tiReperol ABE RO 03 503, P0G BPVR 5D DOHDXOBHER?
(A) 25& dbos (B) 6%% 80

(C) sHhed (D) e:50% s5708

WES  F6 e d ATE Sy £ 30,
£i o LK © $Sf B LSS @

What is the tallest residential buildings of the world?
(A) 23 Marina (B) Princess Tower
(C) Elite Residence (D) The Marina Torch
. PDOBOS Bep @08 MEPS ek gfSR HH?
(A) 23 Dome (B) &3t s
C &5 B D) & &b enb
© i a‘ﬁ ( g%(ﬁfa;”(?}z(_fﬂcg&?:

15)

BreASs @) Sk © M ® LAB (A)

Under Akbar, Mir Bakshi was required to look after
(A) Incharge of the imperial mint (B) Military affairs
(C) Minister - in - charge of Treasury (D) The land revenue system

845 osd® ‘ardad’ & entiBen DEQOBTH?
(A) ©5508 HomoodS Hodse . (B) aweowd sass00e0
C) pmmm oy (D) er0E 33%5%, 359
& N SL 2SS E ksl
cbb@?  (B) KFF AL P (A
(BLy 2 (D) VST (o)
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16) Who is the Chairman of the committee looked in to issues relating to the deregulation
of the sugar sector?

(A) Dr. C. Ranga Rajan (B) Montek Singh Ahluwalia
(C) Dr. Narendra Jadhav (D) None of these
. DOBEREBOrRY BB eTES BohEs H0R0DODD DIOTROR HOE0DR 008 DS M55 ?
(A) . C. Sotioeas (B) 52088 208 IDBUTRHoTR
(C) w. 580 entsS (D)

RS
-uZUwaﬁLL?dbi_h-xFLfdfucﬁ)—;fﬁ

S et oo i1 (@ I B, B LG5 1 (A)
17) When is National Panchayati Raj day observed?

(A) 24"March (B) 24™October  (C) 24™August (D) 24"April
\)Q/eaa{so;é DoTRaHE 0o HFRY DD, WD ?
(A) =»g,24 (BQZSﬁeoG , 24 (©C) 5§, 24 (D) 2%, 24
T bbb STl iy
Jygi2a (@) oS24 (0 ~#124  (B) &al24  (A)
18) The first “Women’s Kabaddi World Cup’ competitions were held at
(A) Patna (B) Jaipur
(C) Chennai (D) Chandigarh
Sobahoesd ‘HHo Sirwe ob 59, deen DG om0 ?
(A) aeex (B) @apb
€ = (D) Sobignb )
g ?lﬂ{ulr(—-!'l?'"-ifﬂudifu‘{;nﬁgbﬁ.f
L) e © 2z (®) 2 (A
19) Who is the Present Prime Minister of Pakistan?
(A) Yousaf Raza Gillani (B) Raja Pervaiz Ashraf
(C) Muhammad Mian Soomro (D) Shaukat Aziz
PBRS B 508 Horsi0g 527 -
(A) oDeRD ove Berd (B) ooep 50,d 055
(C) Drs,5 o wam (D) 2055 odd

?uguff}'f{buﬂré {:)L‘éfg

Y

2P D) Ut (© T gigsts (B OBy (A)
20) Governor General of Bengal became the Govérnor General of India th.rouéq

(A) Pitts India Act, 1784 (B) Government of India Act, 1853
(C) Charter Act, 1833 (D) Government of India Act, 1858
B <580 TRy Sored 65555 BSES, arsBBE 6585 aiSSS @ty ?

(A) ®eJmobain ﬁgoy (B) ost@oes e modoim wsio, 1853
(C) 26 wigo, 1833 (D) csstsoes 6B mobate ko, 1858

Skl i1STU 200 eF £ w6 ST 2005

1853 L1k 3Te (@) 1788 1Lt (A)
1858 e LiL1iTe .S (D) 18332510 (©
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21)

22)

23)

24)

25)

N ive marking is ther er ca 1l
The book titled “Udyamam nela baludu” is authored by
(A) K.G SatyaMurthy (B) VaravaraRao (C) ShivaReddy (D) Gaddar
23,550 Do enents” HYSY HBD SHOH?

(A) B2 d8sm (B) 655029 (C) 38 (D) 555
Tq_!’uf...i’#’ﬁ».,lj’“:b’l- llfr‘.uf"
4 D) i (© Sl B) dor FEL (A)
Who of the following was shot by Taliban gunmen on 9" October, 2012?
(A) Mahanaz (B) Malala yousafzai
(C) Mehjibin (D) Nausheen
800 308" 9 65506 2012 & TDOS K55:0S B8 SQWEH DSH?
(A) Bozrard (B) Seroatmnbz  (C) oeas (D) &S
SYShE Lt L Ve S 0124 1904 S 50
L5 @ e © ol ® e (&)

Krishnadevaraya defeated which Bijapur Sultan with the support of Portuguese
soldiers?

(A) Ismael Adil Shah (B) Ahmed Shah
(C) Nadir Shah (D) Mohammad Shah
808 oS0 & Banipd MerS EKismeabe MHAD POHO VDS HEOTRE.
(A) =pondsndap (B) wsns,bap
(C) =abap = (D) soswab ap
?o’d.v:,—sc_uJ@idﬁ‘{i.z..r;lg;lﬂffu%;;lﬁfuﬂdjbu
W2 (D) Wt (© Wz ®B) S (a)

Which of the following State Governments first time introduced a policy to pay
compensation to housewives, who are mothers?

(A) Goa (B) Kerala (C) West Bengal (D) Rajasthan
8on 336° & oPRHHELBLO FokBSE PO Bepoand Hirme I DO BPod

DRy pITgod?
(A) &%» (B) dov (C) samBoes (D) meig{
WK s.5sbe fUSE P S Y ol e B 5L S 00
gt @ JEYHF © L ® i (A
The first Paleolithic tool in India was discovered at
(A) Bhimbetka (B) Pallavaram (C) Nevasa (D) Kupgal
gREBEH0S’ 529 HoHT SeroTKY HOVEY E56 FPoso.
(A) $Sder, (B) ®gto (C) A=m=d (D) =355
_iécil_.uuLf#;.*fﬂb!Z:ﬁJ WL
J& o) LIZ (© (s (B) Gt @)
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26) After Mahavira’s death, who among the following became the spirtual leader of
Jainism?
(A) Gautama Indrabhuti (B) Gosala
(C) Sudharman (D) Jambuswami
SHTEHBHD SoBeRS0BED, @‘{)Mé BRBE (HHY BOS TPBBDH T
(A) & mo5zea  (B) Hdw (O (D) socadegy
S U T ik o o &= bs ol
SirsZ (D) & Fir (© ved ® dwnaEsl @A)

27) The author of ‘A nation in the making’ is

(A) Mahatma Gandhi (B) Dadabhai Naoroji
(C) Aurobindo Ghosh (D) S.N. Banerjea
D JS 25 0 808’ PR GSoNS DBHT

Ry
(A) SoGsER, (08 (B) wrmoeran 6%
(©) oB8085% 25 (D) S.N. asgote

Sy e L S et
GA-cfiaft @) JHrsa © Giduns ® S0 @A)

28) The Rowlatt Act aimed at
(A) imposition of restrictions of freedom of the press
(B) compulsory economic support to war efforts
(C) suppression of the Khilafat Movement
(D) imprisonment without trial and summary procedures for trial

T isigo s, 630
(A) 58 HuP sogen oSG0
(B) g BAbEE DGO 8PS Hinsto

i

(C) Berod s ing omaSaniso /
(D) dendn Shome 050g0SE0 BV HTREBENED DO HOAROBES
: .vl'"‘rflfca.(!_'Ju_
Gnbeullaw ® S @)
S I BAL 5 (D) SV (©

9314 (Set-C) 8



www.sakshieducation.com

29)

30)

31)

Negative marking is there, answer carefully

Match the following items of List - I with List - II by choosing the correct code.

List- | List - 11
1. Jayaprakash Narayan a)  Trusteeship
2. Gandhi b)  Social Justice
3. Dr.B.R. Ambedkar ¢)  Radical Humanism
4. MN.Ray d) Total Revolution
[ & 25650 @osvei I § D855 vomws? asvotos. HOSAE DS 58

570610,

15 He3% 11 & B
1. zobhdsed meoeahl a) 58, 88 B0
2. mog b)  psinas momo
3. meaeb eodisfio C) BRI SndsmERco
4. obhd ohd oD G d)  dory vpso
s 2l nl SIS L b e e B e
s i Loys
ot Qa LSz
2 IIIE b g6 2
.::/ugjuldjy: © f,?"[;fdﬁ’fj 3
1 2 3 4 ;jua'n_}; d g 4
(A) a d ¢ b
(B) c b d a
(8] d a b ¢
(D) b ¢ a d
Which of the following is called the mother of Parliaments?
(A) The Indian Parliament (B) The British Parliament
(C) The US. Congress (D) The Swiss Federal Assembly
8ot Trdis® 0w ‘SEarotne dRhus, 5 O ©oenth?
(A) erts a0 (BY 2638 aegavoes
(C) US. s08% (D) 250 D56S waod)

W el ST L ) 5 s
Figir o Ry ©  wdads ®etadesn o

For which of the following countries, Mr Hugo Chavez was elected as President for
third time?

(A) Argentina (B) Colombia (C) Venezuela (D) Brazil
Bon aedde’ B Bued &0, S cead STGS W0 A EHEm DRI ?
(A) goeﬁm (B) sewoxain (C) IRer (D) gas
cienF el r§Aing S d LSS LS s
die © b © A ® Ewa @
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32)

33)

34)

35)

36)

Which amendment of the Constitution of India limits the number of Ministers?
4RUS om0 aﬁé D0 S0BV VORE HOINS DEHOVOD 7
th th st 2vd
¥ ® 3 i SB S e 2 SO,
T3 (D) 91 () 186 (B) U8 (A
The proposed “National Museum of Indian Cinema” would be established in
(A) Delhi (B) Chennai (C) Pune (D) Mumbai
DOBOS “ITHTS HoRBADO BH REBADHS AV DS BOSPYDLBOD?
(&) &8 ®) 33 (©) @&~ (D) swop
K LU o B ST E e P s
& o> iy © deg L SRS
The concept of “Partyless Democracy” were associated with
(A) Jawaharlal Nehru (B) Jayaprakash Narayan
(C) Mahatma Gandhi (D) Vinoba Bhave
“PHUIRES HaERF0” OF PRBD B3 HOVORODODT
(A) astnbens Sgn (B) 2005598 mooohd
(C) sofsser, o _ (D) ??imﬁﬂ"a’"q;ﬁ&’ui .
wstitdy @ SEy (© el ® Ldugz ()
Which of the following is won by Saina Nehwal recently?

(A) England Championship (B) Asia Championship
(C) Denmark Open Super series (D) Japan Open series
8ot TP e IS adlise Bepsann Saoe?

(A) 0ok GrobaHELD (B) @daie grodahds
(C) BrE, 58 1nod 5 (D) 28 &S 26D

G BUSUb el Jid e ks
LI (D) Logreidil (© Lo B) LA b (a)
The treaty of Bassein (1802) was signed between
(A) The English and Tipusultan
(B) The English and Holkar
(C) The English and Peshwa Baji Rao II
(D) The English and Gaikwad.

aRADS 008 (1802) 0sBs503 dot5, 208087
(A) @08 08 sSHpahy B300eR 50

(B) =08 o8 sHoat 580,55

(C) =0 =08 sHoctn Hip, erdoog 11

(D) =ofip o oo Jsbn WPl £ 180205 be o
Fsonosy i ® gk iz F1 (A
;iffulu,g}': (D) [Iiudl,wlﬁ_#ulu:zf! (C)
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37)

38)

Negative marking is there, answer carefull

In which of the following ancicnt literary works a scparate section of painting is
found?

(A) Panchasiddantika (B) Panchatantra
(C) Vishnu dharmottara purana (D) Natya shastra
5 B08 B YPoBAS Sormred’ HETDB0 28 HBE DaRsom SoH T
(A) DOBHROBE (B) sowssos
(C) oEps6sHs Hosmo (D) weyego
-Gﬁ({(@)ia.«*‘ﬂ“h;r‘; d,fJu:LUL/LJ_}bu
i7E ® Eloarle  (A)
1Bl (D) gy pas®s (©

Match List - I with List - II and choose the correct answer from the codes given
below.

List - [ List - 11
a) TFormation of BJP 1. 1990
b)  Acceptance of Mandal 2. 1976

Commission Report by
the Government

¢) Formation of the First 3. 1980
Communist Party Government
in an Indian State
d) Passage of 42" Constitutional 4. 1957
~ Amendment
e - 1 D apedess - 11 &° a8 3R 8000 DERERTRY EWAPH08.
e - | ande - [1
a)  9.ad. s 1L 1990
b) oot 5DR0S HBDE 2. 1976
OB BARDOSEO
C)  ansBBdos BnkBnees dom 3. 1980
850705 mﬁ Db, 3)039.13
d) 42 & ceengots DB Bosiso 4. 1957
GBS 28 LAl SIS L2 bl e S L
Moy 1o i
1990 .1 bkl d a
a b oc d ., R
(A) 2 3 1 419 2 AFfetf e b
o 3 1 4 2 195 a4 AUt B d
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39)

40)

41)

Negative marking is there, answer carcfully

Pindakara under the Mauryan rulers was a tax

(A) On labour (B) On irrigation
(C) On non-agricultural produce (D) Collected jointly from a village
DOwRES” BXS0 S, PSS DPOSHES D DAY?
(A) =05 (B) &esSaptrce
(C) sspchss (D) opsvgeowns Sos Haugioe 5t
By B S St
.;oé‘lff (B) LUy (A)
tSUrs S e ebsir (D) ‘ e P A(o)
World press freedom day is observed on (lslas
(A) 5" May (B) 7"May (C) 9" May (D) 3" May
L0 DS 5T OTTETRY DD BHYTHD?
(A) &5 (B) &,7 (©) %o D) &3
S bbb ST 2l ¢ g 515 U1t
&3 o d'9 © &7 ® SRR

The first Nehru cabinet of fourteen included five non-congress men and thereby
Nehru’s Congress Government virtually became a broad based National Government
in Independent India. Who were those five non-congress men?
(A) B.C.Ray, Govind Ballabh Pant, .B. Kripalani, C. Rajagopala Chari and Abdul
Kalam Azad.
(B) B.R. Ambedkar, Shyama Prasad Mukherjee, John Mathai, C.H.Bhabha. and
Shanmukhan Chetty.
(C) B.G Kher, Krishna Menon, N.G. Ranga, P.C. Joshi and Jayaprakash Narayan.
(D) Narendra Dev, Ajay Ghosh, P. Sundarayya, Ravi Narayana Reddy and C.D,
Deshmukh.
g 308, Boodsel SaBS D 14 HoNS EHHE SOFHBLED GOE0 FOB HyBOH
RUB0S® Sgrn I8, 5050 VB AHREOM D 8D HEHEOR DEHZOROE.
BDIIDHE SHOTVBLOD DStH?
(A)B.C. 3, 6%08 Sy 008, ].B. gen, C. ooa 55Renann, soahny @208 Sero wenb.
(B) B.R. 0085, 52,50 55 2098, ard owao0, C.H. aren ook om,p03e.
(C) B.G 35, gamdSs, N.G dore, P.C. 8% soochn sabisd seoeahl
(D) #BoEdS, @zab 3m&, P. oo, 028 mrosabes 3§ sooato C.D. S8kws
S F YIS maniTaa LS G kst AE Sanvl S e
_ &S ka5 F
TPt Soe il « 38 3oz oy b/ sl (A)
EF A wuis . derue B Al S T8 ®)
Fitdez d 25 od €GeS FGd (©
ﬂ)-di-u’ul d.;._-flztdu- _l_.u.'/-Q -ru"‘)f;.l s (D)
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42) Who of the following Presidents of India was associated with the Trade Union
Movement in India?

(A) V.V.Gir (B) N. Sanjiva Reddy
(C) Zakir Hussain (D) K.R. Narayanan
800 & § gt oD G5 CHRDAHS 63,508 H0BOEo 58 Solath ?
(A) 29.89 '(B) N.zods 3%

(C) =85 TS (D) KR apoeahns

‘-'i:—-.’bc.’..&i'u}!é'/fd{é}fﬁg)ﬁ)#é{gﬁdi(vu

ik d.L @ oS © dtaFg @ S5 @
43) The term Scheduled Caste was coined by

(A) Simon Commission (B) Gandhiji
(C) B.R. Ambedkar (D) Government of India Act 1935
iR Senen’ ©F HERY R0t DB DOSAHO BEEHT?
’ (A) psos samas (B) mobé
(C) BR. eodkss (D) no8 Havsses0, 1935 L7
Vi S 13 G
S ® _ M @
1935096 L e (D) Sirrilg -
44) The issue of electoral reforms was addressed by
’ 1. Tarkunde Committee 2. Goswami Committee
3. Santhanam Committee 4. Sachar Committee
Find the suitable answers from the given below :
(A) 1and2 only (B) 1and3 only
(©) 1,2and 4 only (D) 3 and4only

DY H0o560 80T & 52068 sRVoVOE?
L w08 sool 2. GingoEmd 3. pomsosmdd. 56 smod
808 083 Dob HBa0S RDERERRY BHES0E.

(A) 1 ook 2 swsd (B) 1 moato 3 seed
(€) 1,2 000 4 srg (D) 3 oot 4 srEd
3
% ;,H?UW Q Furs 2
L4

-£w§5+Ufu;:utdjaJ)(
413 (D) 411,202 (C) 30l B) 210~ (A)
Py ot
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45)

N iv ing is there, answer 1l
Which of the following are the federal features of the Indian Constitution?
1. Rigid Constitution 2. Bicameral Legislature
3. Office of CAG 4. Collective responsibility
82 800 TS| DD griS R OO DR, OFmeen?
1. 503 ceenon@n 2. 8y TeESHER HERSL
3. do® G, SR @050 4. DY el s

?L);f\_”J-LJ!".JE!(:.J:'{J}:'J(ifu:LzJ.@JJ

VS & 4 /"de}z-‘-cJ‘Ti':‘/'fﬁj/ﬁ ﬁ’d!’ﬁ'ﬂal.ﬂlu 2 J:“"‘ul;.g/-_ﬁ“ .1

46)

47)

48)

(A) 1,2and3 (B) land4 (C) 1,23and4 (D) 1and2

What s the position of India in recently released Global Hunger Index Report 20127
(A) 56" B) 61* (€) 62 (D) 65%
adise DHE8S B8 EnotsE 203§ - 2012 &F grosddo O o’ doey?

“(A) 568 (B) 61s (C) 625 (D) 655 '
-4 S Ui A W12 g 2 B
165 (D) U162 (C) J6l (B U356 (A)
The First English Evening Daily Newspaper from Madras was
(A) The Madras Mail (B) The Madras Chronicle
(C) The Madras Herald (D) The Madras Standard
Sl Sooé BenSds Bt MaHome B0l O5HAY
(A) & dged Joond (B) & Db osd
(C) & 5oged anoed (D) & gl Aposs

?GUJ(J?JME}'L‘—LSZ/FIEL;;:_h,/llfsi.ﬂél;r;.u'b.a

Skl @ Jiavuals © F Sl @ Lol @)

Which of the following Committees recommended “Block Level Planning™?

(A) GV.XK.Rao Committee (B) L.N. Singhvi Committee
(C) K. Santhanam Committee (D) Dantwala Committee
“ap8 8BS apD08” (apd> Mo Hress) M & Bo0ed LRy Bhod?
(A) GVK. oo 2068 (B) L.N. 08x, £g0e5
(C) K. Homso g0 (D) SoSzoen Bg08s
WL S e B
L;"rdt“ﬁ-u,"-il (B) 3;5'15:-'6:2& (A)
Fuz, o u’*fﬁr-'-*-ei ©
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49)

50)

51)

52)

53)

egative marking i ANSWET 1l
Who termed the dominion of Sultan Muhammad Tughlaq as ‘Hind and Sind?
(A) Ibn Battuta (B) Ziyauddin Barani
(C) Yahia-bin Ahmad Sirhindi (D) Abdul Malik Isami
WeRd MaR,b HofE enq Broth HO0K HOFH B DM LD ?
(A) 258 o8B (B) 2oimddS o
(C) onirahd a8 @anbd 26aR0e (D) eend £05 Q80 .
- S S il e (O 2
degfiels (B) LH (A)
duidlizgy (D) Se o2t ©
Which Country’s Vice-President was sentenced to death recently?
(A) Kuwait (B) Iraq (© Syria (D) Yemen
B Bdo 0308, S EHES alse HnaY DPoSHEOT
(A) B35 (B) @B (C)  2ooIn (D) ocohabd
‘i‘g"l_.:r‘b’:m Ll‘;.-f;y._;l:é‘_lfufub.gb
ot (D) L (© J/s  ® =/ (@A)
Who is the Current Chief of “Central Reserve Police Force” (CRPF)?
(A) Ranjit Kumar Das (B) U.K. Bansal
(C) Pranay Sahay (D) A.P. Singh
Dogd oab; 20 98§ (CRPF) Higs H 25607
(A) Boss HER8 R (B) UK. oS
(C) H0ad HosaD (D) AP 2058

S porr SCRPE) U3 gs sz &

Flar @ iy © @ SLly ® ubMeds @
Nadir Shah’s invasion of India took place during the reign of

(A) Tahan Shah (B) Muhammad Shah
(C) Farruk Khsiar (D) Alamgir II
WREBEP0R TOSER 0ok, 85e S50 Deoads® 20fod?
(A) asnSap (B) sooBa  (C) $nEaedb (D) wwos5Il
?l_._-rgj:‘.:ffu)‘i Lf(yé'_.a@ut{di?iﬁi
u A (D) Adsb (© W2F (B) Wz (A)

As per the National Crime Records Bureau, which Indian state reported heighest
number of Suicides in the year 20117

(A) Tamilnadu (B) Kerala (C) West Bengal (D) Maharashtra
B35S B 0505, a8 DE0E g0, 20110058508° D 4nos 02fos® e8ns Hogd®
S0 SR BOTR,07

(A) S0t (B) so¢ (C) Hamdoms (D) wisory
T.“'_n'u-_lﬂ-ls&f;}a:&)&wgﬂ&’k;pﬂl{_ﬂ:uﬁ20]ldb:—fﬁxz,ﬁSJﬁJr?lIﬁ'
iy (D) JELA (© v @ 3kt (A)
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54)

55)

56)

57)

vegative marking is th answer carefull
Who one of the following started one of the earliest centres of revolutionary activity
outside India in England known as Indian Home Rule Society?
(A) Shyamji Krishna Varma (B) Bhikaji Cama
(C) Dadabhai Naoroji (D) Rashbihari Bose
ROHOESS ‘arts T tind Jipdl’ DHS? LREELTRS BendHe H0GE PO BB B Seralen
DERR03 Soged) DS DBCPODT

(A) =08 8550, (B) ®=ea sosn

(C) wrorgron H6%2 i (D) oEne &
S Ll il S g e ot £4F Vo Jasp ey 21Vt 22
SIS @) Gasiduisn (© WEES  (B) WS ()

‘Bhagavad gita’ is recently translated from sanskrit to which of the following
European languages by Anna Racinska?

(A) Latin (B) German (C) French (D) Polish
BRERSRR,, atdse FSEABR H0K, B0 K08 & WS PSRV ?
(A) =83 (B) ags (€) oS (D) 2505
Sl bidsdl ee P a K e i de
i o & © vz ® Ev @

Arrange the following Speakers of Lok Sabha Chronologically according to their
tenure by choosing the correct code.

1.  Somnath Chatterjee 2.  Balram Jakhar

3.  Manohar Joshi 4. PA. Sangma

DB BIED R0 58 8ol SBIL DEGRD TREH HOTIS 5900 HEots0 SDHHBH0SE BewHos.
I oepHod 2. ooeSmsd 3. HFRESH 4 Do Do,

..é{,ﬁilﬁ JVLEILS[J@{T;EIL{‘J){L’@_JUCJ_J'@)J

fept 2 ity
i 4 Szz# 3
Codes:
(A) 1,324 (B) 4,123 (C) 2,431 (D) 34,1,2
Who received the 2011 Dada Saheb Phalke Award?
(A) K. Balachandar (B) Soumitra Chatterjee
(C) Randhir Kapoor (D) Devanand
2011 & BOSHGO CRERNERES B, WPE) FEANS S ?
(A) K. zrososs (B) Rea0g wvf (C) 50b555p86 (D) Toessod

VL ap Lyl
By @ ul2ii©  Gaze ) sl @)
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58)

59)

60)

61)

62)

Negative marking is there, answer carefull
The Central Administrative Tribunal deals with
(A) Recruitment and all service matters (B) Recruitment matters
(C} Promotion matters (D} Disciplinary matters
Bofjad Ddodnere SmHS0 (oS e&0HES Hausd) D eRaROLO HOBDND ?
(A) oEReSRool oo Bl H8;® dxore  (B)  ofreStod daotmen
(€) RS aHotmen (D) gDagmn anoee

e 0SS S e 0 A

C:‘E’:":.-’)J/.r; (B) f;ﬁf&wtﬁj:f._':ju-r.a (A)

Lrybiest (D) Ler36s (©
An autobiography titled “Beyond the lines” is authored by —=
(A) P. Sainath (B) Kuldip Nayar
(C) M.J. Akbar (D) Arun Shourie
“Bainof & 3§ 08 H08F mFadiRgdo HBH cvrsd?
(A) P. Zoomns (B) ©85 wans
(C) M e (D) wof o

WIS BS AT skl

St @ Alezfs © Fted B Ftdd (A
The Communist Party of India (Marxist) was established in

éa’ma‘s(’\)r{g é)a@ (a}ao&o@) u)a’;diﬁa ﬁ)g%:o::‘.ia)éo&) T 5
(A) 1960 (B) 1961 (C) 1962 (D) 1964
Tt S B e O STd e
1964 (D) 1962 (C) 1961  (B) 1960 (A)

According to the Global Language Monitor, which of the following is the top Global
IFashion Capital for 20117

{A) London (B) New vork (C) Paris (D) LosAngeles
e epotiy@ SRObE’ HER00 2011 S HOSEITH4RS Hlad NS S DbE HO? '
(A) wois | (B) amaf, - () &% (D) end BoEg
Yo USESibnE SF e g 601103 £ G BSE”
vy o) VB (© Sz (®) usd (@A)
Who 15 the wmner of Asian Team Squash Championship 2012 in woman category?
(A) India (B) Pakistan (C) Hong kong (D) China
2012 sohd i 7y 8 GrobabELD 2012 Hiew Do DT DB T
(A) epusddo (B} an82ns (C) &tomeob (D) B
i L E i 2 P o
D) F¥E © Ul B)  Ubas (A)
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63)

64)

65)

66)

Negative marking is there, answer carefull
Which of the following European Country is facing severe ageing problem?

(A) Austria (B) Poland (C) Germany (D) Finland
200 S & 26%RHH0 Fmons HADIY POES TR0 VI 600N ?
(A) Sgnaiﬂﬁ (B) 20808 (C) =5d (D) 2apok
?(‘_}1/\?L—KJ’VL/.Q}J@:J{UIVCJ:EE;H
) §z © Hy ® AN
In which of the following cities, a chowk is renamed as Bhagat Singh Chowk?
(A) Islamabad (B) Karachi (C) Lahore (D) Rawalpindi
88 300 S B SIS0 28 TED 25ER0E SEm D SRoIDT
(A) apspend (B) sood (CV e (D) oesgod
Wrrretl “SpF B g Liv S LSt
Sas (D) 5l (©) &/ ® At (A)
Whom of the following has became the First Dalit Speaker of the Tamilnadu
Assembly?
(A) Tamil Azhagan (B) Madheswaran
(C) Dhanapal (D) Murugumaran
808 TOSS D355 BTG @0FS FnoEnese t5us B HRSSHEH?
(A) 808 o258 (B) &nd58
(C) goard ) (D) snthroanss
‘-‘gg;)’ co;?{{/g‘i&:ﬂd :,.,,/{(}‘-rj,ju B/_”ufJ_._iZ;.u
gy (D) Jiss © gL B ubadt (A

Identify the correct chronological sequence of the following:
1. Round Table Conferences

Quit India Movement

Formation of Indian National Congress

Simon Commission

2.
3
4.
8ok TedD Do SFIEY SER0S oG,
1.
3

5208 Sad vsmdeeen T3 2, 8.5 noBasm &850
5708 andiad 52038 s 1V 4. DS 8aaS 1947
_éd‘.ﬂ-‘-: 4 JJ'J-.—.:;C.-BL;&JC'JJJE-/J
.J_./f::hfdl'/.u'-f 2 U‘Jf’ b//fdf A
S 4 GRS a3
A) 1,4,2,3 (B) 2,3,4,1 ) 4,2,1,3 (D‘)/3,4, 12
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67)

68)

69)

Negative marking is there, answer carefull
Swami Vivekananda value education and cultural centre is being constructed at

(A) Ahmedabad (B) Patna (C) Baroda (D) Belgaum
‘e DIT0LS e, I BAS BOB LS DoHE’ DEE DY,0HEEOE?
(A) eporend (B) amen (C) abse (D) @epo
_Lfg’/ugf“/dfrylu/ﬂlﬂm‘vmudlr ’
rl (D) 2314 (C) 2 (B) s\ oA

Match the List - I with List - II and select the correct answer using the codes given
below: '

List - I List - 11
a. 73" Constitutional Amendment Act 1.  Democratic Decentralisation
b.  74% Constitutional Amendment Act 2. Indian Diaspora
c.  Balwantrai Mehta Committee 3. Municipal Councils
d. L.M. Singhvi Committee 4. Constitutional States to
Panchayat Raj
06000 S35 Do B05% | 5 HPESPD woTeewm Il § HPLED BoTes sBEHSEE.
15958 11 5 D8
a. 73 & ceenyots DY B0 1. pemdngh, oot
b, 74 5 menol DBt Sho 2. gesddo dod Sow
Do epden
C. 208005 Sdeme S50 3. SoRod 520,
d  chHSah. bodo, o) \ 4. SomeaHdoed) com,0f HBDG
EHEaE Lﬁ_«li’é“_ﬂLfdln“’l(ffL. LS Sr S eIl .../,,JI = g
Lo Loyi
Gcf/ULfJJ:"f Bl ..*/.(lr'-}/_d.r;‘ul_{_u'ﬂ -a
gk 2 I S5 as7e b
FIFe 3 Ferinat o
DG K ek 4 FuF Ll 4
a b ¢ d
(A) 2 2 4 .1
(B) 4 @M1 2
© 3 2 1 4
D) R, W 4 1
Who foundéd the University of Vikramasila?
(A) Mahipala (B) Dharmapala (C) Gopala (D) Devapala
DEDBL DHEDRHOTRY DD ﬁ‘g%)oaad)?
(A) s03rdrentd (B) &g,pentid (C) &5pentd (D) Bsarentod
ed L BB STE Ly
ugs (D) i © dLF  (B) Jur (A
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70)

71)

72)

73)

Negative marking is there, answer carefully

Who defended Pakistani terrorist Ajmal Kasab in the Supreme Court?

(A) Raju Ramachandran (B) Rajkishore Das
(C) GR. Rajagopalan (D) R. Sadasivan
RROEIRSS BN SeSed wa,S SO BEDT POODS TRADTP WBDH?
(A) ooy cesusosd (B) 0osSB&56 ool
(C) GR. ceat%nod (D) R. dopass

WL oW B P S e de e SE o
Ul T @) JUELTE ©  uF L @ wemlLa, (A

Election Commission of India has signed an MOU recently (October, 2012) with
for cooperation in election management.

{58 B0 Hogno el (95505, 2012) HYSL DY FRBES HirRSO0 5 H5OE? 25050

P %0850 S0 ? :
WFL LS oK i S L B I6 1012 YD > Jb b1 ST
(A) UNDP (B) UNESCO  (C) UNIDO (D) UNWTO

Who was the Secretary of the Forcign Department established by the Indian National
Congress in 19367

(A) Maulana Azad (B) Vallabhbhai Patel
(C) Jawaharlal Nehru (D) Ram Manohar Lohia
1936 & a8 andoh S0 Hozkn S0S DEF06 DarcRRS S50, D5t 7
(A) sPeorae sapd (B) seaznon £685

(C) esseBond Sgno (D) ceos5ostmE Shinatn

CE YIS E Lt M S P LRI 5101936
Llerets @ sedigz ©  Sduds @ aTtur  (a)

Whe had made the following statement?
“Bhagavapi khatrio ahampi khatrio” (Bhagawan (Buddha) was a Kshatriya 1 too
am a Kshatriya)

(A) Bimbisara (B) Ajatasatru {C) Prasenjit (D) Sisunaga
8ol ESITRE, DS HBIOOTRE ?
“ES PBATIR wiERod PAALR”, (FI50BD (@0t5HH) FHADOBONES S Kt EHHIS)
(A) @odrthisn (B) omsgs (C) Ddwesy (D) awomers
o okt it 0
T A Dt
171 (D) =2y (O ;;«frtgf (B) et @A)
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74)

75)

76)

77)

78)

Who is the author of “Political Economy of Development in India”?
(A) Amartya Sen (B) Hazna Allavi
(C) Pranab Bardhan (D) Subipta Kaviraj
D35S D550 6D B50DR0eT ad RodaiR’ & HD0DOBHDT?
(A) @508 D6 (B) zren 099
(C) gofags (D) soos s0ed
?JLL/"I,}:W;.:.—".{{SJTLW’!#{"
Uloklr @ iy (© #E° B L (A)
In which of the following Cities Asian Athletics Championships 2013 will be held?
(A) Delhi (B) Hyderabad (C) Chennai (D) Bengaluru
HUoDS ©FeIE GRS E) 2013 & Hitod® dYRroSuEon T
(A) 88 (B) peeb © 33, (D) Borssntd
s & i AU 20132 o R
S O fer © A ®) ds @

The word Annual Financial Statement is mentioned in which of the following Articles
of the Indian Constitution?

(A) Article 116 (B) Article 265  (C) Article 112 (D) Article 266
4RBB Crengotiodt © ERSERG® TROE BPE BEHS OF HiSo HE%SER?
(A) ©o55m 116 (B) epEsm265  (C) egste 112 (D) eps6m266

ce VS QVsIL 3 £ TS L s imt S it
w6 K. 7 © 1280 © w5 T ® 16T (&)

Which uniform unit of measurement was introduced by Shivaji for the assessment
of land revenue?

(A) Gaz (B) Tanab (C) Acre (D) Kathi
P smRaing oSTR SoDEDS Soed PEENGS DEERDHID o BN DO
(A) o8 (B) a5e85 (C) a0 (D) =8
WhdnegU i g LS
¢ » A © -~ ® S

When is Telugu Language day is celebrated?
(A) 1* November (B) 29" August (C) 7" June (D) 12" July
Booth grap QTR %), BEHIEHT

(A) &Ssowb, 1 (B)” e, 29 (C) eans,7 (D) w3, 12
¢ tlivSutif ey
Juziz Uz 7 © 22 @) 23E W
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79)

80)

81)

82)

Negative marking is there, answer carefully
Which of the contemporary historians was appointed as the chief qazi of Delhi by
Sultan Muhammad-bin-Tughlaq?

(A) Zia-ud-din Barani (B) Shans-i-siraj Arif

(C) Tbn Batutah (D)  Al-beruni

Koerd din,b A8 B 38 &8 dioi, 50 g HADIVODNES VIS S5oB SHHESD ?
(A) so QS oo (B) =&hoed ead

(C) o8 esowe (D) e Stmd

VL T St ST WS SV
Siedt (D SHE G (© ._Luzo,l/q" B) Suf s (A)

The book “Time Guerilla” is the autobiography of which of the following?

(A) Taslima Nasrin (B) Fidel Castro

(C) Ronald Regan (D) . Hitler

8ot Teod® ‘B8 Boer’ B YRB0 DO wePpdingH?

(A) sham shS (B) 285 (C) 65wgsns (D) oyb

“&.d!/”ftjl JUIU:JJbJ}\_:Urdt“l&Jff’E P

koo L © WS B gl A

Which of the following is not a function of the Planning Commission of India?
(A) Execution of development plan

(B) Making recommendations on pohcy and administration

(C) TFormulation of plan

(D) Appraisal of plan progress

58 808 236F DO GPEBTY DeeBse Do DY St ?

(A) oYY HreBsod efen Sadic

(B) apes ooam eTeHFON BoTIP DRPSHe BoHEC

(C) Hewns tapcBoHSE0

(D) prous goo0 OBRGOSE0 oo A o 3L ST By USRS

c/J;la»J._,w}muﬁ’k (B) ' K206 o
o dzg.» bl (©)
Who received the Nayudamma Award for the year 20127
(A) Kota Harinarayana (B) Kasturi Rangan
(C) V. Rajanna (D) Radhakrishnan
2012 S 905858 TRotEED, BaRt) NS Hi?
(A) 8% fpompoode (B) 5mo Sotid
(C) & oag (D) oogeas
1V of bd._J(hlgll.lu‘WO]ZJLf

cf‘:flnu D) ey (©) J;du/ ®) Futéqzd @)
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83)

84)

85)

86)

N i rking i n refull
Under which Article of the Indian Constitution is there the provision for having the

Election Commission?
(A) Article 320 R (B) Article 324 (C) Article 326 (D) Article 330

BROS 0oaR058) S BRETn DR DoHIY 500 S0LeRDS Sveertn SHVoDT
(A) 32050086 (B) 324 segscse (C) 326 S eoscn (D) 330 S eastes

oggru”rlf"fufgidﬁfqufﬁh)P:

B0 LT D) 126 .7 © 3247 ® 32070 @&
Which of the following Supreme Court judgements redefined Centre-State relations?

(A) S.R. Bommai Case (B) Indra Sahney Case
(C) Vaman Rao Case (D) LR. Coelho Case
800 REF & Bk Kobosey 83 ofs - oy Howoprd HIE VEDODEDT
(A) S.R. &Padom 8 (B) mogasd 8o
(C) =essoes B (D) .66 85chdos S
?ErgfJ!Jl;”L...'u:(ff/;f:f;wL;_f/:j L(J’-’)aﬂg/ufd_’)bu
U"!d'-r":if (B) AT 4
_ ASAET @ s ©
The Asiatic Society of Bengal was founded by
(A) Warren Hastings (B) Lord Comwallis
(C) Raja Ram Mohan Roy (D) Sir William Jones
Bome sROESE el 55PIBD AT
(A) =68 208 (B) er§ =6522H5
(C) orer oo ARERECOD (D) %8 oo &5,

NV P VP (- TRy 3

uJer-f:f DY togtor fiszls (C) S ® ._Jhym (A)
Which one of the following is not related to Union-State relations in India?

(A) Rajamannar Committee
(B) Sarkaria Commission
(C) Indrajit Gupta Committee
(D) West Bengal Government Memorandum
806 mee36® 808 o3 Homogres? Howolso 00 HD7
(A) ormssomRb 58068
(B) dompat» somad
(C) =mo5ss o 5008
(D) s Bomd HHE, HIncodo
l'rf..uf. ;p-{hc_.t,g"’lc,(f,ﬂ-;fudd_iau

(g FEIGF O FWezn © &k, B Fesn ®
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87)

88)

89)

®

Negative marking is there, answer carefully
The first rural internet exchange of BSNL is established in which of the following
Districts of Andhra Pradesh?
(A) West Godavari (B) Krishna
(C) East Godavari (D) Guntur
B0HDDSDES (BSNL) cios;, 89 (pansn @08me oF 0f 8050588%0 & epd® Hoakn

s
Sohadod?

(A) D0 Gioeso (B) & (C) &ntBpso (D) Dobandd
?gﬁﬁuﬁé’d’ﬁﬁs{l}jfﬁﬁ'*ﬁf'&’uﬁ‘é—d'%'d'q
s (D) dﬂ'ifd.’.’ © EF A d”"fdf-v A)
Who won the Deodhar Trophy in March, 20127
(A) North zone (B) East zone (C) Southzone (D) Westzone
S2p 2012 & D556 FHO DO BGeSwH?
(A) &88 svoseo (B) &»g Soeo
(C) 68es svotswo (D) Ham sotdeo
WL 312 oA 20125 40
Grieds (D) Wil A3l (C) u:J..-;.J.l B) Wi st (A)
Match the method of Protest against the British with its Propounder.
List - I (Protest) List - II (Propounder)
a.  Method of direct action 1. Gokhale
Non-cooperation means . 2. Bhagat Singh
Method of petitions and 3. Tilak
resolutions

d.  Acts of courage to rouse the 4.  Gandhijee
man revolt by masses. :

8005 FYS HBEIFNY, T HBPOODD O Dok

apdme - | (&t55500) apadme - [ (2o2ra00 )
a  PBE S, 1. &8
b, oEseH DoSEE 2. ensB2ob
c. D0 ook Bopan 3. 808
d a8 oeddod od 4. mobd
ey agm?g%?fiow;nfﬁff)’ &:.‘:.. ST mr P ual e Ter f i £ Fa
A5 ()
&7 q ,."-_l)f;_)'f..-_/u .a
a b ¢ d Fet 2 Wwlirs b
(A) 3 4 1 2 i E A0S
®v 2 4 1 3 ,
©) 4 2 3 1 gysf 4 (Yo woboien 4
D) 3 4 2 1
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90)

91)

92)

93)

Negative marking is there, answer carefully

“Look East” policy was formulated by which of the following Prime Ministers?

(A) PV. Narasimha Rao (B) Rajiv Gandhi

(C) LK. Gujral (D) Manmohan Singh

oo 508)” 63 Dobd KRB0V DSOS HBE?

(A) PV. ssvossog) (B) ooeS crod (C) LK. o@pd (D) F5S05

WL P s Sttt e

£y @ VALET ©  Saten @) risd @)

Who is the Current Deputy Chairman of Rajya Sabha?

(A) K. Rehman Khan (B) Karia Munda
(C) Shumsher K. Sherif (D) P.J. Kurien
RHY BB SR BES DS
(A) K. Stnsms and (B) Yot swome
(C) woh53 065 (D) PI ©oanHs
Sk 23y L 2l
4 & '
Ufeed @ALLA © 0 i @) Ge L (A)
Which of the following was named as ‘Kutty Japan’ by Jawaharlal Nchru? -
(A) Cochin (B) Madurai (C) Calicut (D) Sivakasi
8080 3&° asiebend Sgun 38 “0He aRE” 6 LosoaSH HO 7
(A) &5 (B) 3 (C) woses (D) 508
?{;LJ;‘PJ{“BSJ "u&(g L?’"LJ,(:J UplZs L)fifyu
S¥ (D) AU (© dloss (B -2 AN
Who among the following was the founder of “Sangat Sabha’?
(A) Ramakrishna Paramahamsa (B) Swami Vivekananda
(C) Devendra Nath Tagore (D) Keshab Chandrasen
88 §08 TOS HOBSITD HBDH :i’g&:oando?
(A) oeaogyg H6sR0D (B) a0 ddssioss
(C) EPogmE =656 (D) 845 S05dS
¢ JLL/JL}.J"WJ”L}:JJ‘C‘/I)
1£gndly  (B) Ll Sl (A)
Lzt (D) Kizy ©
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Negative marking is there. angwer carefully

94) Match List - I with List -

11 and select the correct answer from the codes given

below.
List -] List - 11
a)  Goa’s Liberation 1. 1975
b)  Imposition of Internal Emergency 2. 1974
¢)  Death of Indira Gandhi 3. 1961
d)  Pokhran Explosion - | 4. 1984
@D - | O apdme - [] 8° 283D H8ans DERERRRY) HYoSod.
epddwe - | epdme - 11
% a) Of%» dAnsSSo 1. 1975
4 b) eosys DZY BHODH) 2. 1974
C) RO POE) DB 3. #M861
d) Faed a0 - 1 4. 1984
iégﬁﬂfﬂf.glx({f*_nafdlﬁ’iﬂfc:.b.da'ﬂfﬂ:..II.."/jfi e
0eygd | JO
1975 $THS a
1974 2 W ol b
1961 3 =bf s o
2 b ¢ d M s 1 fufy 4
(A) 3 1 4 2 '
(g) 2 4 1 3°¢
(C) 32 4 3
O/ 1 2 4 3

95)

Who wrote “Why I am an Atheist™?

(A) Subhash Chandra Bose

(B) Khudiram Bose
(C) Bhagat Singh
(D) Madanlal Dhingra

"8 ® OIRD HO IO D D BDORDH ?

(A) R0arh ot &%
(B) dod &%
(C) 58208

(D)  s&Send pope

9314 (Set-C)
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Negative marking is there, answer carefully
96) Match List - Il with List - 1 and select the correct answer.

List -1 List - 11
1. Jyotirao Govindrao Phule a.  Namdhari
2. E.V. Ramaswami Naickar b.  Sarvashodhak Samay]
3. Shahu Maharaj c.  Satya Shodhak
4. Ramsingh d.  Self Respect
et - 11 & enddme - | 69 289 HG00H DRy SGPH0E.
et - | endee - 11
1. &8s sfnosms )58 A, ARORO
2. E\V. cesodngo apapss b, H8.8%55 Damedn
3. pdamp doeoed c. 08808
4. oeodol d. sgFsso
_Z.ggﬁﬁlﬁd/b_.lﬁé‘;&cl e A e f
el 1s .7
A=t L:ﬁfi;}'{fiuaﬁ |
Lk ol o Lrlirt gt 2
G Llgnt 3
a b ¢ d _guuk Feuo o4
(A) 2 3 4 1
(B) 1 4 3 2
(&) 3 4 2 1
(D) 4 3 g

97) Put the following in Chronological order.
1.  First Round Table Conference
3. Bhagat Singh’s Execution
(A) 2,13 and 4 (B) 12,4 and3
808 T30 SPOESRRRCOR a500s.
1. Bt 6208 Sood vemado W17
3. eftidlob aods
(A) 2,1,3 sooato 4
(C) 1,2,3 oo 4

a,g‘.vaul_uﬂjf

A I

411,32 (D) 411,23 ©

9314 (Set-C) 27

(B)
(D)

Gandhi-Irwin Pact
Second Round Table Conference
1,23and4 (D) 1,3,2and4

ROE) - DO BBOVES

Botsss E206 S0l DRI
1,2,4 oo 3
1,3,2 sooain 4
-Z_")é?;b‘@ﬁxtlﬁijfyn
A JIE
FyE-4 3

311,24 (B) 401 2,1,3 (A)
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Negative marking is there. answer carefully

98) The medieval city of Kol is presently called with this name

(A) Ahmadabad (B) Ajmir (C) Alighar (D) Delli
Bo0X08500 aRe3 535 HIHO HuBo D HHSF DevSEBD ?
(A) opmend (B) o£s (C) wdgné (D) &8
‘.’r{_.l‘l_of:é;lr‘tufufuu::?ff"J;"ﬂﬁi&’:yf
¢ O 2% (© A1 (B) AT21 (A)
99) Which of the following country recently joined WTO (World Trade Organisation)?
(A) Russia (B) North Kerea
(C) Somalia {D) South Sudan
83 800 5638 aulise WTO (g0¢s amee, 00 Sors Bo H?
(A) e/ (B) 686 Soamm
(C) dsnootn (D) 58w drwd
ST EWIOWE ST 2000l b 2} i
Usrd® (D) i (© (PEATSNG:)) U (A

100) When was the Central Vigilance Commission set up by the Government of India?
P08 DEOEI B DF KOKPY D, BHonkn Bow7?

(A) 194 (B) 1967 (C) 1961 (D) 1971
WEE S Il e B
1971 (D) 1961 (C) 1967 (B) 1964 (A)
101) The reasons for fast growth of public expenditure in India in recent vears are
1. Urbanisation 2. Interest payments
3. Subsidies 4. Defencl expenditure
(A) 1,2and3 only (B) 1,2 and 4 only
(C) 2,3 and4 only (D) 1,2,3and4
285D $008F grEBBI0E Heni; 5,005 HE0m LEELPDS S
L ogdste 2. s53gope
3. wgbe 4. 8w s0050
(A) 120k 3 snsdh i (B) 1,200 4 sngsH
(C) 2 3 oot 4 smgaDh (D) 1,2 3500004
: .-;:JJ&‘/.c.d_z'ﬁ.:,k_vf}fdl:’pdc)fflhuf').jb
Eudsr 2 Y
=i A1t 4 JEs 3

40321 D) 4B32S2 (© 40215, (B) 312410, (A)
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) Negativ rking is there. answer carefull
102) Peas have ‘ chromosomes and dogs have ———————— chromosomes.
aeden ___Fandiinw oot ®he E5Emafisinen BDA Soeraw
£ u_ffg.tu/b‘ Py g— ZJ;IJJI‘ Y j— ur
(A) 18,62 (B) 14,62
(C) 18,78 (D) 14,78
103) Match the following List - I with List - IT and select the correct answer.
List - List- [1
a.  Meghalaya 1. Neiphiu Rio
b.  Manipur 2. Lal Thanhawla
¢.  Nagaland 3.  Mukul Sangma
d.  Mizoram 4. Okram Ibobi singh
e - 1 2 enyme - 11 8% 283 D6 DEmgpemeg E05508.
endee - | emedem - ||
a.  Dsmecd 1. 3oppan
b, soep 2. endgearger
c. wRmweRok 3. snHdom,
d  odfoeo 4 555 x5 ok
S PN2E S r e e f e S s
I erfd lerd
L) JuE
a b ¢ d e 2 4 b
(A) 3 2 4 1 2 PR e o
(B) = RO F ks
(C) 2 3 1 4 sV 7] A rax , A
(D) 5 2 Sy 4
104) The working of the quartz crystal in the watch is based on
(A) Edison effect (B) Photo electric effect
(C) Piezo electric effect (D) Johnson effect
BB0RB0E 53,6 eS8 U0 HuE BEREDE BOTRR ?
(A) 2888 Hanso : (B) o558 u)?)ég Depso
(C) & 088 Do (D) =S Hanso

‘-':,-J:t..ud:yzd’|JL)'(?£J")’J:-J|!'JJL}’
A @ A Hm © ASH B SR (@A)

105) In which of the following states of India is Ghana Bird sanctuary located?
(A) Orissa (B) Kamataka (C) Rajasthan (D) West Bengal
o8BS B egod® oS 1§ Dot Sogo doa?
(A) eod» (B) 8208 (C) cca®s (D) a5 Soged
o = _‘-‘q_dl:rmJ%ubutu’aﬁ;JJuP,m
JEdHF o Gl (© N3 ) 23 (A
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Negative marking is there, answer carefully

106) Match the following List - [ with List - II:

List - 1
a. R.K. Hazari

C. Ranga Rajan

c.  Omkar Goswami

d.  Arjunsen Gupta

wedme- | D eeddee - [ &5 asSahod

apdee - |
RK. fo=d
C. Botioeas
&0zeB H%p,00
ODRBDS 1R

e o

(A)
(B)
©
D)

W W Law
[V SN S o

N AR AR —~IO

List-11
1. Committee on public
enterprises
2. - MRTPAct
3. Industrial Licencing
4. Industrial sickness
5. Disinvestment of shares
eedem - []
L. ga0son sogop ool
2. MRTP-segan
3. Sogme FAQes
4.  rozemus geanes
5. Y SO00ntE
&bl g lar d st
It o T d
J:f\.;ﬁl-,ﬁ;uféf A Japl,T  a
LEMRTP 2 Pl b
u‘"ju;,[,’/.%: 3 Jirfen ¢
v*ca,!/‘fi'l 4 et ?a  d
ifTerdids 5

— == e

107) What is the biggest cell in the human body?

(A) Human ovum
(C) Human nerve

(B) Human nerve cell
(D) Human stem cell

&0058 FBisoes BEHF 00 DT

(A) s»s5 soo
(C) sinss b

9314 (Set-C)

(B) smss mebsmo
(D) 5055 3508
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N i I
108) Match the following two lists,
Raw material Product
1 Limestone a Porcelain
2. Gypsum b.  Glass
3. Silica sand c.  Plaster of paris
4, Clay d. Cement
8005 2O Toth PmRud BESY0GR
S0 HoRgso AL )
1. sSass & a. 25098
2 Do C b. @§
3 205 ooy c.  appbed el
‘)e’ 4. 24 & d  Daoey
kil St
PP e
JLYUF a Ay 1
o b )
i ; é i ol r 3 < el 3
(A) a b ¢ d w4 ¢ a4
B d ¢ b a
(©) a ¢ d b
(D) d a ¢ b
109) Match List - I with List - II and select the correct answer.
List -1 List - 11
(Rivers) (Tributaries)
a.  Krishna 1.  Chambal
b.  Brahmaputra 2. Indravati
c¢. Godavari ‘3. Tista
d. Yamuna 4. Bhima
ame- | D encme - 11 85 a8 53 Hainmmeg 556%0s
epedEe - | apeden - [1 10
(Sesoen) (&)
a.  gp 1. <Soxd
b 2mDs 2. @ogpse
c. O%weso 3 &
d.  obEnd 4, dam
-E_{?F'!fh_—fﬁé‘ulé.ur_ll.z«jfl:/,éi}_ as
| JER lerj
(!H)(‘JJL“ !JJ
J’?' ] #S a
o YR e B A
(B) 3 4 1 2 o 3 J ”l.,f <
©) 4 3 1 2 w4 b d
(D) 3 04 2 1
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egative marking is t nswer carefl
110) A common fluorescent tube contains
(A) Sodium vapour (B) Mercuric oxide and neon
(C) Argon at low pressure (D) Mercury vapour at low pressure
Dogete HODE trgd SO 598 dotood?
(A) Ps&ono andio ‘ (B) Rotim, £E @5& Soatn Hoird
(C) Bsys o 5 80zS (D) - s50y5 isiso st Bote, o 2P0
-c‘_rnd"',.ﬁw,,ﬁru..{l
Y60, ®) saflly (A)
sol¥oessid s @ ol ¥ T (©
111) Pencillin is produced at '
(A) Puna (B) Bengaluru (C) Pimpri (D) Alwaye
DROS 25 688 DoHarkEon?
(A) %pd (B) Botsent (C) ok (D) oo
Ce b E U b e B
dis @) 4 © S @ Ly W

112) If you move towards a plane mirror at a speed of 10 cm/sec at what speed does your
image approach you?

(A) Information inadequate (B) Scm/fsec

(C) 10 cm/sec (D) 20 cm/sec

B & DSoBe SR T 10 20.aR/R SesEst 5093,  HBNoBO Do B0 AP
83087

(A) Hsmoeto BASOBmT Bi5H (B) 5n0.2m/R

(C) 1030.8m/> (D) 2008w/

}'Jngfl"uffb’;ﬁ?unaz&Ta.JUJLfJ#C&)-”t?’10~.J)J—'57utf..'.ffl
HpdFn © FIEE0 ©  FREsS ®Cniel @)
113) In which year the EXIM Bank of India established?

WS IS DIDIB e3;08 DS DOSHLO ?lfy?ﬁ'd'ru_/"ﬁ'-ﬁ—érf'?‘”
(A) 1983 (B) 1984 (©) 1982 (D) 1985

114) What was the GDP growth in First Five Year Plan?
Bo0t5¢3 DHowsass, DeRBES® BB Y K087 . s
$@Y K131 SGDPA L I &

(A) 4.5% (B) 3.6% €) 42% (D) 3.9%
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Negative marking is there, answer full

115) Freshly passed urine has hardly any smell but when it is allowed to stand, it develops
a strong ammoniacal odour owing to
(A) Conversion of urca to ammonia via urea cycle
(B) Conversion of urea to ammonia by bacteria
(C) Conversion of uric acid and urca to ammonia
(D) Conversion of uric acid, urea and creatinine to ammonia

0,3 DR SRBED CREIYP 0N GOBED, 59D LR DYGODB MEK0LS BRR, DR
D0 Biod. HVS B0

(A) cfmooin p8S Ry chRoalR, BAROOIRT SREBOHBION.

(B) emfooin oy ahmoan, ©&RH0RR SRHBOHE0N.

(C) ool esnasn Hoahn chroa, e&R,H0TRMP SREWODHE0,

(D) ofoes eapsn, chhmnoois ook Soirdd, ©3R00iRme SoiBochman.

PN S BP9 F SV T T DU 1L A Yt
bkl E by @)
DR8P 2 (B)

D A 8 gt iy (©)

Db e iy (D)

116) India’s Second Five Year Plan was based on

(A) Harrod - Domar Model (B) Mahalanobi’s Model
(C) Joan Robinson’s Model (D) Kaldor’s Model
ePEBEY Sotd DOLSBY, DLy & Hshmar 8REomR HRarooRnG08 7
(A) SEE-65:06 dareme (B) sossedteR b
(C) &8 ccaFs Ssavawe (D) s0enB Sanme
?Q&{J,J"Jl@il/u{u&:k
Jigity (B Jissdaish (a)
JisS¥ (D) oty (©
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Negative marking is there. answer carefully
117) Match the following List - I with List - II:
List - 1 List - 11
a.  Devulapalli Krishna Sastry 1. Karunasrec
b.  Jandhyala Papaiah Sastry 2. Khadgasrusti
c.  Chalam 3. Krishnapaksham
d.  SriSri 4. Savitri
808 oS s - [ 9, ewdee - 11 85 a8dobo
aneden - | enddan - 11
a.  3odp gHed I sond
b, @ome ARDHODER 2. gl
c. <eo 3. ggsgo
d &4 4. >0 ) »
£ R TV | R NSy T
| QO] e
a b c g L‘/hf 1 d;fl.ﬁwfd;u;u @
Eg)) g tll T g G882 drludesz b
i .
©) 4 3 2 1 A ¢«
(D) 4 2 3 1 ik 4 brér d
118) On which committee’s recommendation, competition Act was enacted in India?
(A) Rangarajan (B) Chaturvedi (C) Alag (D) Raghavan
53085 NGO FooEd ‘SRS P’ D Skyom Saath?
(A) dotimmad (B) w@de: (C) oob (D) oog0sd
WS G S S S
vA @ Ju © Sps2 ® P @)
119) Which state irrigates largest percentage of land?
(A) Punjab (B) Bihar
(C) Uttar Pradesh (D) Maharashtra
& oego O HS B850 FIRIVOD De§;0 BeH?
(A) Sowe (B) &6 (c}/egcs 83§ (D) swog
%,Jﬂji]l)_gd}}‘b:ﬂéﬂ}&;{)’: -.:-/LMJ/ -
21 (D) Hagst (© AN (B) e (A)
120) The Bikaner Canal was taken off from the river
(A) Banas (B) Chambal (C) Yamuna (D) Satluj
D56 52003 B S *H0b PSkED8 7
(A) ewee (B) wowd (C) oHaos (D) %88
e ¥ e UUV K,
& o ¥ (© J& @) Ut (A)
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121) Which of the following is not matched correctly?
(A) Gurajada Appa Rao

Negative marking is there. answer carefully

(B) Gurram Jashuva
(C) Buchi babu
(D) Rachakonda Viswanadha Sastry
808 538 SO BEDEBVEDN DO?

(A) D odoey

(B) thgo apspar

(C) anvgamen
(D) oS820 DEeSTY

122) Match the following:
List-1
a.  Kumaon Himalayas

b.  Nepal Himalayas

%—c.

d.  Assam Himalayas

808 T30 adhtchain.
e - |

.  BInd dnsroaine

b. S insmeatnen

C.  Doend eamocien |

d  edp teiacinen 3

(A)L/
(B)
(©)
(D)

9314 (Set-C)

[ 2 T S O ]

W NN T

Punjab Himalayas

_—) W = O

B W e

)Ifugy

T ATy R

12U Pk T v
G2 e

C Rl e

| QO]

d?;;&é-’uhj:ﬁl
r}yué.‘t‘—fnlﬁf

;_-JL!;:LI,?VMJ:FL‘-:-'
u?z:cﬁdi’mg’

35

2

15

Mutyala saralu

Firadousi

Asamardhuni Jeeva yatra
Alpajeevi

é:uméax)men
DO
SO0 dSang
e0dd g
S_e Uy USRS
sl (&)
bPpsf (B)
Add (©
S lsbit il (D)

List - IT
Between the Indus and Sutlej
Between the Kali and the Teesta
Between the Teesta and the
Brahmaputra )
Between the sutlej and the kali

et - 11

ROLR OO DGFOL 065,

508 D00 e &S

S Sookn pERLB i,

DS oo 5980 o,

ST Y0 § 1O

lerfd
N
daJi b
Lo«
.glr:rb-'l' d
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Negative marking is there, answer carefully

123) Eventhough the concentration of CO, is the same at sca level and at high altitude,
the photosynthetic rate is higher in a plant grown at sea level than in a plant (of the
same species) grown at high altitude. The reason for this is

(}K (A) light intensity is more at sea level

(B) temperature is lower at high altitude.
(C) atmospheric pressure is higher at sca level
(D) relative humidity is higher at sea level

85 G egh 38, BB 0005 S0k 3563 FHOA DB DB 8563 pesom g8,
&mass, OGRS B0 Bt HENE HHBVSS & FEH’, DBoNS HEIS &Y s, 08
(Boim 28 a3 DeOBD) DB G008, HDE sGHo
(A) =008 858 Dt od’ 8B G000
(B) B0 Hados® saitss $5,50 ool
(C) , s aioss memesitn DEBO SEpB0R S0LDOR
(Y D5 &0dd DY BHS DS S0L00D.
..b’l#u!g JJ‘M‘L/AJ_/.VJJJ’F —-‘Lu"l-g";JLfl|l}LJJ116‘Q{JJ5’}gJ|{C02 .;;/l
' ‘-'-:-Gcﬂwkfdhf-ﬂi;w?»-;
.=
.f.u_l,)-;«ﬁJu'u{gJJ.ﬁf (A)
:‘_r".;étfnup_«,,u,,m (B)
;:'_u!,},;;ﬂf}:’fprlqi ()
coiif gt 32 O

124) Match the following List - I with List - I1:
List-1 List - 11

a. K.S. Krishna Swamy Committee 1. WorkngofIndian Monetary system
b.  Narasimhan Committee - 2. Onsite supervision of Banks
c.  S.Padmanabhan working group 3. Priority sector lending
d.  Chakrabarthy Committee 4,  Profitability of Public Sector Banks
et - [ 0 wedee - [ 85 asdonod.
apddee - | epedmo - 11
a. K.S. &0 sl L. anubad 5550 508D
b, stRoied sood 2. enothe g, R08 asdEe
c. S.05meS 50,06 (RD 3. o SOmoL BmnEY
d sgse 5o 4. HPE B0t w050 eRLRODHES
a b ¢ d & belier gl dititn
(A) 2 3 1 4 I d Lerjd
(B) & 2 3 ! RPN T TRV FUrr /AL a
© L & w S Atk T Fe
Flgiduss 2 o/ b
) 3 4 2 1 LwEil ot 3 FE g o
NI o Flak
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Negative marking is there, answer carefull

125) Enzymes in living systems directly

1. Provide energy 2. Provide immunity
3. Transport oxygen 4. Catalyze biological reactions
How many of the above are correct? '
(A) 1,2and3 only (B) 2and3 only
{C) 1and4 only (D) 3and4 only
e85 53596 oFhen S8 o
L B0 HinERtHIo0 2. THOEHE SBR DauERGDR0N
3. =8a80 SoemdRan - 4. EOHESELH SBES0R HLRAD
D e3P Y D ENT?
(A) 1,2 Sovato 3 SREd (B) 2 sopomn 3 smssh
(C) 1 oato 4 Segad (D) 3 ooty 4 Snsak
tpler¥e il U b
bady 2 LAasduy
JSuipylee 4 P 3
S Ll
342054 (B) 3,210 (A)
. 4337 (D) 401 14,72 (C)
126) Consider the following chemicals: '
l. Benzene 2. Carbon tetrachloride
3. Calcium sulphate 4. Trichloro ethylene
Which of the above is/are used as dry cleaning chemicals?
(A) 1only (B) 2only
(C) 1,2and4 only (D) 1,23 and4
808) SRRaDRO HOEDOBOE,
1. Bod 2. oGS SupsiSE
3. s9ohod 4, 5535‘5 2963
P B @ED0HS and tReabaRen HOT
(A) 1xPgaD (B) 2amgsb
(C) 1.2 500050 4 &mBsH (D) 1,2 30004
' -~ e
2K 2 gA
K 4 w2 3
Tt b & KT Gl B KU S L s
4.011,2,3 (D) 4s3t1,20 4 (C) 25~ (B) 1<, (A)

127) The chemical which is used as an antiseptic is

aoePEmr ed SRanBo S ? T Qe U1 £ Gl S S
(A) KMnO, _ (B) KBrO,
(©) Cro, (D) KNO,
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ive marking i r
128) Which of the following take place when the subject speaks untruth while being
tested by the polygraph instrument?

?‘3 1.  His blood pressure goes up 2. His pulse quickens
3. His skin darkens 4. He sneezes
(A) 1and2 (B) 3and4 (C) 1,2and3 (D) 2,3and4
0 a0 wos08t 585000 6554 eago TaBagah 5§00 TS HEAtDHB00?
1V o8 S5LES0 BEHDECE 2. o8B0 eddto HENHE0R
3. B8 WH0 SYREHBE0N 4. o808 Born /iR 51908
(A) 1sopafo2 (B) 3svoamo4 (C) 1,25000m3 (D) - 2,3500d04
?%fﬁl{g:d‘!JJl?ﬁ;D.{¢ﬁleﬁ;£gﬁ_r.jl/-o{
Seeng P 2 0L bousl Kbt
Selbger a4 Sl el 3
4.,42,3 (D) 311,22 (©) 4,413 (B) 2111 (A)
129) Consider the following pairs:
Important mineral Resource
1. Andhra Pradesh ; Copper
2. Chattisgarh : Bauxite
3.  Gujarat : Diamondi ferous kimberlite
Which of the pairs given above is/are correct?
(A) 1,2and3 (B) 1 and 2 only
(C) 3only (D) 2only
205 25 BBoD HoEDowIEN
P 00800 DOBROLS
1. ®ogsHds ; 8
2. 580B : maga'f
. 3. tomoed ; 35008 PP SowSPS
2 SO aved’ HO/DHH DB
(A) 1,2500803 (B) 1 so0om 2 Sngib
(C) 3smBab (D) 2&nsdH i
_Effu'{u;u.ﬂd_'.‘bu
(‘jl.r}(}.w' r‘l'i ks
¥ Jag T
el ST 2
w2 Ay : e f 3
_ ﬂgwnuyﬁdjfu:ﬂbu
24~ (D) - 34~ (© 23132 (B) 343121 (A)
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king i er carefull
130) Kalpsar project for the supply of sweet water is located in
(A) Haryana (B) Rajasthan (C) Gujarat (D) Karnataka
H0DHHBD HEPoe D BB Pl A S0B7
(A) Erooge (B) ma&‘!g:S (C)  oams (D) Sores
‘ 9511{.)14"‘-"5'4:'.—1”/8'&!4/(;0&5
NIV =14 © UL (B) six (A
131) Uttaranchal, Uttar Pradesh, Bihar, West Bengal and Sikkim have common trontiers with
(A) Bhutan (B) Nepal (C) China (D) Myanmar
| B8R0US, 686 HES, B, S5 Bpred sHoasn L&0en B08F $55,8 ey 5DB dran?
(A) ginend (B) C) 2= (D) soheeb
BV PTG ¢ IHN MO I H 457
My (D) & © Ju  ®) wtA (A
132) Between 2001 and 2011, the child sex-ratio (0-6 years) in India (Females per thousand
males) has 177\
(A) decreased by 13 (B) decreased by 7 [+ 4
(C) decreased by 5 (D) decreased by 9 5
EROSGH0SP, 2001 SO 2011 & S0t B (0-6 DoSHED) Dors RS (H6 BonSood
s §o Hog),) '
(A) 138808 (B) 7sdos (C) 5880 (D) s9s8o0 1%
_P-—-’

TG p ez I LS £l 15 Lm0 L b sie 1987
féo ) s © 1 e JB @

133) Minimum alternate tax is a tax on

(A) Film Industry (B) Capital gains
(C) Zero tax companies (D) Professionals
505) D sSpod B3 B0p dPoswEen?
(A) 23 sodn ’ (B) somessop eweaho
(C) s, a5y Sodden (D) Depxise
tetnig/ Adfel

o o Fo o e, ® e @
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Negative marking is there. answer carefully
134) Match the following,

List - [ List - 11
a.  Calcium cyanamide 1. Rocket fuel
b. Freon 2. Photography
c.  Catechol 3. Refrigerant
d. Hydrazine 4. Fertilizer
Bob 630 addohosn.
apeiEe - | addee - 11
a. s o0 pIs I oeB8ef a0ds0
b.  pates 2. e
c. =md 3. Cyatods
d Femeed 4. Hpf=b
s .f__.:_r'.‘fd_"}bu
1 :.fj | TP j
P W #ELEY  a
T &S a2 wiZ b
‘ SEM, 3 Fyooc
S} 4 . L ¥ d
a b ¢ d
(A) 4 2 3 1
(B) 4 1 LB
© 4 1 793
(D) 4 3 2 1
135) Which of the following has a mission of “Slum free cities in India™?
(A) Indira Awas Yojana (B) Mahatma Gandhi Awas Yojana
(C) Rajiv Awas Yojana (D) Valmiki Ambedkar Awas Yojana
o8 53¢ B8 “Yad § VeSD ad aodate” esabome ot ?
(A) zoboe ek Cras (B) o5, mod) emeh dras
(C) S sarh d3mas (D) =288 wodits,5 wanh cinad
Ce LB IS g SRS St
GysnS iRy (B) LrgUsllazl (A)
e g/t ) LaubIRl (©)
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Negative marking is there, answer carefull

136) A powerful eye irritant present in smog is

(A) Peroxyacetyl nitrate (B) Nitric oxide
(C) Ozone (D) Sulpher dioxide
Snssood 65 agoe 8R0S MBHoB pERHT0 Ha T
(A) 6%8a5RgS D5 (B) e85 @E&a
(C) &a% (D) =B gesg.)ﬁ
: ‘-'\c.l—";ﬁ’:ﬁ:"uf(Smog)J;!}JI;;.:_;J‘-’ufm*(Tp:f
wIds A o) Gsisl (€ HUTSF @ & Frs S )

137) Consider the following statements.
1.  Blood pressure is measured in mm of mercury.
2. Medulla regulates blood pressure.

3. As the blood gets farther from the heart, the pressure like wise decreascs.
Which of the above are true? '

(A) land2 (B) All the three
(C) 2and3 (D) None of these
So0 BT Dorsdosod.

L 655 DR ECHED 030S, MPDREISE 52enRR0d.
2. o8 bisoeg Shidoer DODOBIOD.
3. 0B 508 So SRB0m HISARODINN,G ¥ SROOm DiEHC BIRED.

panede® HO / OB HEED
(A) 1&opoio2 (B) 238 (C) z2smeam3 (D) Hdsew)
S gt it
cededFet pd cnadonfiolos
ce Eanb L yr KUl 2
cetbrfRl St e i 3
e U e LG
W PN ISR >) 3512 (C) uf. (B 2561 (A)
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Negative marking is there, answer carefully
138) Which of the following does not match correctly?

(A) Vishakhapatnam -~ Ship building /
(B) Titlagarh - Railway equipment
(C) Bhadravati —  Iron & steel
(D) Pinjore —  Machine tools
Bo0aRi368 HOm ASHEBREDD DT
jA) DEPDYO - &% Dm0
(B) eSews0b - 38,08
©€) zpse C aEED) o0 S5,
(D) 20&56 ~  othog Hosoeen
!“Lyu,éugu.ﬂ)!djau
_& b
tj;lfu/ e (s (A)
%
c}l,ﬁ,-,_;l,b",ij vt e e ,}f‘u.‘ (B)
.'IJ;’.ullg;J (:?,,Lup: (C)
J'Jiléd? ,,.i (D)
139) A 100 watt bulb will consume one unit of electrical energy in
(A) 10 hours (B) one day (C) 60 hours (D) 1 hour
&35 100 @8 218 &k D HIEHED HoH PS> oo HHABRHEN T
(A) 108oken - (B) a56% (C) eodoben (D) abiiob
S O3, 2 S aes g 1 AL 2151000
250 (D) 260 (© Ut B 210 (A)

140) What is the base year to measure inflation in India?
FREBRT08" B8 g B8P HENS & DOSBIR) @RS HoSETOR BrnBokomRd ?

e ded el Fedom o m

(A) 2003-04 (B) 2005-06 (C) 2006-07 (D) 2004-05
141) Consider the following food materials:
1. Cheese 2. Sugar 3. Vinegar
Out of the above three food materials, those provided by fermentation technology
are
(A) land3 (B) land2 (C) 2and3 (D) 1,2and3
8085 RFNES SHEHTMR HOSDOBOE.
1. @y 2. DoSmes 3. 206
P RO Sty EHEHTROS, PYOOHHYHBO TR OPOTD DD?
(A) 1soo0%03 ‘(B) 1 dooofo 2 (C) cavpamsz (D) 1,203
:é;f{?!é!ﬁg}_’jbu
JG‘J 3 f)" ) & i
N ARG A AN A
3.011,2 (D) 3442 (C) 2.1 (B) Il (A)
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Negative marking is there, answer carefull
142) Which of the following groups of rivers have their source of origin in Tibet?

‘p (A) Brahmaputra, Ganga and Sutlej (B) Ganga, Sutlej and Yamuna
(C) Chenab, Ravi and Sutlej (D) Brahmaputra, Indus and Sutlej
808 w3 O sdsmER0 B85S Spotiimend) 598 Gmgon?
(A) pipDE, totf oot HgE (B) o5, Hgd sopahy 0Hsn
(C) 335 0od sopoio DES D) a5, 2060 Hoa 088
9¢_Q..~.,;,laubfu,_'.cJ.r,fJ’u:J_'5c-,u
Hui(’f‘dﬁ (B) f)slﬁ(«fﬁha‘. (A)
Z-‘,’-'uuum)‘;h,; (D) é}uld:u-..,l:?, (©)
143) That ‘some human diseases are genetically controlled’ was first established by
(A) Gregor Mendel (B) William Bateson
(C) A.E. Garrod (D)} Watson and Crick
898 $0i035 BRI HOTADGHOM DODHOFOTSLY” B BDESSTOM DERDODIO DBH?
(A) 855 BoosS (B) 20ahd entyS
(C) AE.3m& (D) oS oo 85
‘-"-fi-u/égé—w"q-ﬂzt_fd:/‘fc— O’?lﬁfu:_’ﬂ-.‘:du'i:"
LS @ bl © oFh ® Jee @

144) Match the following.

% List - 1 List - 1T

a.  Sodium carbonate 1. Photography
b.  Sodium bicarbonate 2. Washing
c.  Sodium peroxide 3. Baking
d.  Sodium thiosulphate 4. Source of oxygen
808 T3 BBBoH0.,
epedEe - | enedeo - 1]
a.  Péabo E[es v 1. Seesiisp
b.  ABavo Be63e 3 2. ookob
c.  s&aHo Hoeshk og' 3. &&ob
d  D&abo gl 4. efadsm
0@(\]@ % o0 -{_ﬂvfd_’jﬁ;u
0 ergd Leryfd
RIVLE 1 Ll
By 2 wikdiflyr b
L/ a b ¢ d o3 BUflr e
(A) 2 3 4 1 S Y-
(B) 5 3 1 4 2T 4 eirdediy 4
(©) 3 02 4 1
(D) 3 02 1 4
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Negative marking is there, answer carefully

145) Consider the following pairs:

Dam/power project River

1. Kishau : Alaknanda

2. Koteshwar : Bhagirathi

3. Nangal : Satlyj

Which of the pairs given above is/arc correctly matched?

(A) 1only (B) 1and3 only
(C) 2and3 only (D) 1.2and3
800 avom HOEDoT0E,

BIEL [De5,58 2EE 50

1. &wp : ©osBOS

2. 8845 z TOCE

3. oS : De3E

P @i aBod® Koo aBHTESD HO/H0?

(A) 1 smE50

(B) 1 sooomo 3 sega
(C) 2ot 3 &g
(D) 1,200 3

“ELFpuiad it
_[:J) .Ll_;l/ul.ff-’j
=2 il i+
L g) : 2
JJJLP: ' .r;f/ 2
& F s
S ssind S Ut
3121 (D) 3u120~ (O - 3nildr (B) 1G4 (A)
146) Which of the following hydro-electric stations is situated in Uttar Pradesh?
(A) Mayurakshi (B) Rihand (C) Kangsabati (D) Hirakud
85 SoB ar3ef O sod),S Bogo 485 $355° Jusondon?
(A) saheoeg (B) owwcE (C) sotpe (D) Eroeib
e fT oy i1 g S St st
Ng O dud © £lgs (B) CIONS
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Negative marking is there. answer carefully

147) What is the source of electric energy in an artificial satellite?

-R( (A) amini nuclear reactor (B) adynamo
(C) solar cells (D) athermopile
§BD sDIR0SE DLisS Someo HO7?
(A) 20D SRZonHE o0REs (B) gsam
SO vetng . (D) 3655
AP AT RPN II f e
Fprig o s © ALl @ AL ()
148) Which combination of the following tribes is conbined to a single state of North
East India?

(A) Khasi-Nagas (B) Garo-Khasi  (C) Naga-Mizo (D) Khasi-Mizo
£00 D & Bife Soons & gnos Gamesy, m%ﬂ)@ HOBELOD GOB T :

(A) 2= - moee (B) 6% - gpb (C) moe-g08F (D) 20 - g0
Tg{?d../d:b’"ufF;ﬁg/i_.)yl:(fcﬂ"/ukd-/‘“dtﬁufijbn
126’6 (D) 126t (© b-sf (B) JELGTE (A)

149) Consider the following statements about human digestive system.
1. The small intestine is about 7.0 meters long
2. The large intestine is wider and shorter than small intestine
3. Large intestine is about 1.5 meters in length.

Which of the above are true? &
(A) land3 (B) 2and3 ‘
(C) None of the above (D) All of the above

&n5s B FIPD DowoROD, 508 BSSTD HOtEoS.
1. ::‘).gi)@ DRLREYT 7 QP D) S0os008).

2. 2gH ey dok DYDD) B0l BL,5 MG doknod.
3. 2D oD 1.5 Snbdy Beids) ool

PSR He) 08,55 b/
(A) 1se0tn3 (B) 2®eam3 (C) 30 (D) ps§
R FRII i TN 187
cednprbudsTin 0
_f;_GnJl_JH'JLbL:JTJ;{er;-;sz 2
~gdnpist I ful Ty 3
e U LU
e o KL © 3512 (B) 3l (A)
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ive marking is there. answer carefull
150) Who prepares the topographical maps of India?

(A) Geological Survey of India (B) Survey of India .
(C) Defence Ministry (D) Geographical Survey of Indi
PREBEER) FORE DeROD DS BOIPHIANUD?

(A) edroess 5T, o qobam (BM %8, &5 aodate

C) a33 .‘;’)Jaﬁ‘g) (D) &drmss 03, a5 qodaie

Wl o (61 2y
ST, ST 0 GAGR © WidTes, @) WdTes, e @)

151) The state which started the First State Finance Corporation in India

(A) Andhra Pradesh (B) Tamilnadu
(C) Gujarat (D) Punjab
FREBEB IS JeS P SE2TASD GBS0 S0 oo
(A) eognds (B) saoties (C) ozoes (D) DoameS
‘-.‘i_/{,s;i..;«/L)J%.:..,/f‘;ﬁz{hfuﬂ'QJ..:,é't"uful?u":
TN ) =t/ © ke (B) HagpiT (A)

152) The two isotopes of Uranium 2*U and #*U have an/a
’g (A) equal number of neutrons

(B) equal number of protons

(C) different number of electrons

(D) equal number of neutrons and protons

aHodRaHo cing, Bo BAFeFHen 25U Hoatn 24U 598 oeron.
(A) R8RS Dog®’ Snepden
U(/B) Q&S HoPSH® DD
(C) s Dogds a)eaggéw
(D) D& D08y dinepden SO0k FerdD
1 FUx 238, 235, Efné_/. rfl.u_!f

l.(ﬂllp'.d:l«‘Jc)h{ (B) mev"gﬁgfl&ul)ﬁ (A)
Jnd;bulﬂ(fc}h{ululhé D) Susd S ©

9314 (Set-C) 46



www.sakshieducation.com

Negative marking is there, answer carefully

153) Which one of the following is not correctly matched?

(A) Agriculture - Green Revolution
(B) TRYSEM - Self Employment
(C) MGNREGS - Wage Employment
(D) IRDP - Infrastructure Development
800 TS Do BBDESVEI0 DOT
(A) S@robsn - RO DPSB0
(B) TRYSEM - ;000 6488
(C) MGNREGS - 3855 66558
(D) IRDP - SBE 5800 9HHY
?‘quff..’ﬂu{ufdibu
._-,,u‘.'h)_— =i (A)
F 615, . TRYSEM (B)
smpKe2l . MONREGS (C)
P E p— IRDP (D)

154) Hard water does not produce lather with Soap because
;’( (A) Itis highly coloured
(B) It contains carbonates of calcium and magnesium
(C) It Gontains sodium chloride L
(D) It contains suspended impurities
8O awdin Da8t MUt 355355608 St
(A) o0 285 Sorh 8B doknod
AB) o0 520,000 Hoaks BLioHo I, SE e 506 dokod
(C) oo d&abo 55360 598 dotod)
(D) o0 de0s &5 O 508 dotwod

P Y- PRI
@Jﬁqxxvé(fé'amﬁ-"-’u:m (B) .;.J;an‘u,_, (A)
ujLn;lZlJ?bCJl (D) q_,ﬁ‘;gmfﬂjr,_, ©

155) Out of the following which are contributes the minimum amount to the Government’s
tax revenue?
(A) Wealth tax (B) Customstax (C) Incometax (D) Servicetax
800 TeeF Do, D) SDROROS BIY D080 & KRHOS’ 550007
(A) HoDs vy (B) =gy oy (C) smonady (D) daroay
fetnfoa #J(J/(a.qu:‘uﬁdjbn
J P B BV PPN PP
Jrf s2ls (@) JAT ©
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Negative marking is there, answer carefully
156) Carbon monoxide is poiscnous because it:

‘_EL_ (A) dries up blood
(B) reduces the organic matter of tissues
(C) combines with haemoglobin and causes deficiency of oxygen in blood
(D) combines with the oxygen present in blood to form carbon dioxide.

5@5%?&)5@0&5@.&0&50&1

(A) =g devion

(B) swoss.0 G305, HanaemR) G000

JC) m&jm@%sgoﬁgga&%oa\/

D) 6sgoss 258° 5D SIS BedhD BoRHEM008

(D) Eoetdig ey oo gegh A Al e 3 [T i ¥
< s (@)

eSSl l ¥ ®
bt {F Tozr LU S S ALt E  (©

oty mJUMJ‘K/JC—Gﬁ:fTJ.Zr SuUi D)
157) Who won the Best Director Award in the recently anounced Nandi Awards - 20117

(A) Bapu (B) Shankar
(C) Vijayendra Prasad (D) Neelakantha
2l PEG0DS S0 eaes - 2011 &8 S8 SEHG uaauggﬁn:sjam?)/
(A) gy (B) o055
(C) Dacboy pared (D) dosos
W e Ul s 20nL L gy i Jo
GVl (D) sbysxes (O ﬁ (B) FIRNVY)
158) Which of the following state does not have a railway line?
" (A) Tripura (B)  Meghalaya
(C) Arunachal Pradesh - (D)  None of these
208 e TEBS 0 oo H0?
(A) s & (B) e groad
(C) owmss 535 (D) Sd=ots
. ?uLgﬁ’Ju;;Ewc_-xg;ufJJ_‘jbu
Fdleku © Egdits © JE ® url (A

159) Who was appointed as the Chairman of Advisory Planning Board in 19467
(A) BR.Ambedkar (B) UKRV.Rao (C) K.C.Neogy (D) MN.Roy

1946 & HOSESOSS DePBY HEH D DO BBHES Doekn Sweh?
(A) BR w0855 (B) UKRV.ox® (€) K.C. o328 (D) MN. oo
SE et 2L 5L b F 151819460

Ligift © il © WAGHLS ® Sl @)
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Negative marking is there, answer carefully

160) Which of the following state receives highest average annual rainfall?
(A) West Bengal (B) Gujarat (C) Tamilnadu (D) Karnataka -
800 eS8 & cego Ko sk DS Uy EDBGD?

(A) ©as Somd (B) Haoces (C) sBoogm (D) Hoots
Ce 3/ bbb bl o el 8 Tk 3t
&S D) s$eht (O = ® JEdF @
161) The First Woman Finance Minister of India is
(A) Upinderjit kaur (B) Vijaya Lakshmi Pandit
(C) Indira Gandhi (D) Sucheta Kripalani
eREBBEY FodaFntse sodrwe BQ5TP 08 OB ?
(A) dodgms 596 (B) pamobed vodes
(C) =oam o (D) Rodee goed

sl D iswiedd ot
iy @  Safus © =Tz, B Seauan A
162) Who is the Current Human Resource Development Minister of India?

(A) Jaipal Reddy (B) Pallam Raju  (C) Kapil Sibal (D) Purandeswari
GRS DB SRISSILO QWHE ToIR OB HSEH?

(A) 2o (B) &gooee (C) svFRends (D) @Doodde
: SRS I BUIEs s sssir £ e s
Yokig © | K © Zufy B Siadiz @A)
163) Which river flows between the Satpuras and the Vindhyas?
(A) Narmada (B) Gandak (€) Tapti (D) Godavari
DBROe SO0 DOG St HHrod SO HD?
(A) 865 (B) 5048 © so8 (D) &ceso
LT D NIV AP PRI
Sl @ Gt © S (B W (A)
164) Rana Pratap Sagar dam of Rajasthan is built on which of the following rivers?
(A) Mahi (B) Sabarmati (C) Lumi (D) Chambal
maﬁ;rﬁéﬁm Coem Bk iI0 855y B S0P Shadod?
(A) e (B) soga (C) eod (D) Soad
Wk g S50 5SS b L2 g,
J* (D) &) © Fab (B Gho(A)
165) The largest cottage industry in India is
(A) Sericulture (B) Soap Industry
(C) Handloom (D) Panmasala
POBRT B8 L85 DogsH
(A) Dty DoHD (B) dape Do
(C) 338 oz _ (D) 208 sodre
?‘aLffw"’i/dﬁtr_unl?:k
Jeul D) $8s © totle  (B)  Wibhs (a)
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N ive marking is there, answer carefull
166) The oldest oil ficld in India is

(A) Bombay High, Maharashtra (B) Digboi, Assam
(C) Nawagam, Gujarat (D) Anleshwar, Gujarat
APBBEF) TSP a0t g0 57
(A) apod 3w, ooy (B) Bpom, BFRO
(C) oS, toamd (D) oddyb, wams
S CLU W K TE IV
LT dt @ il s$i3 @
S ) =407 ©
167) The average annual growth of agriculture during the Eleventh Five Year Plan period
was

11 8 DoEt) D8z S200¢R §SPADEOL0 POODS Feenidd Dikd & Sew
?m.juu.a._ﬁ;:,:,u,_w,;.;uhﬁ,_.f?.;t_j:‘_g, 1"

(A) 3.3% (B) 4% (C) 25% (D) 4.5%
168) According to WHO maximum permissible level of Fluoride in drinking water is
(A) 2mg/l (B) 5mg/
(C) 1mgl (D) 1.5mgl
WHO gsedo geobess® sossens 9596 teg dosmmo dos?
(A) 2 2om/d (B) 5 aom/d
(©) 180w/ ) U;D) 1.5 oorp/d
fepdnd e L 2 oF LwHo
Hinlds @ Aieilbz 4
Ainldis o) HEinJd ©
169) The slight acidity of fresh milk is due to
(A) CO, only (B) H,CO, only
(C) Lactic bacteria only (D) All the above
e 2poH 52090 810 S05LRDS Ko SEHm0
(A) CO, s (B) H,CO, somssh
(C) erg6 erfoosmn snsd D) 8

?'LQ:J@_ﬁl):'d:‘”anuJb
H,CO35,~ (B) L COp°  (A)
Pz O LA (©
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Negative marking is there, answer carefully

170) The Planning Commission of India is
(A) astatutory body

(B) an advisory body
(C) aconstitutional body
(D) an independent and autonomous body

eR0B HERBS HOPHO &8
(A) DR 00g
(B) sowm0g Bog
(®)] aRsotiag Hoh

D) ®%.808 00 D.OHO HHHA Ko HoD
%5208 HO00 wdag %

ulJFJuli‘ (B)

0o 5 P sl 203157 (D)

171) Tochi, Gilgit and Hunza are tributaries of

(A) Ganga

(B) Brahmaputra

(C) Indus

(D) Yamuna
859, 598 oy Heomen B CB00%, &S5 ? |

(A) oo
(B) admDs
(C) =ousn
(D) onsws
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Act
a.  The water

N

ive marking is there

172) Match the following lists.

(Prevention and Control of Pollution )

Act
b.  The Air

(Prevention and Control of Pollution)

Act

¢.  The Environmental (Protection) Act

d.  The Biological Diversity Act
800 AT BBBADOE.

::Sé.)ﬁ:u
a.  Beebd C’ 3.65 sHoofo

BoeS wh é)'amﬁuqu) svasioy)

b. o cQO.bE (coaﬁnfs sooto

S0 @5 Emern 2A0) ofeg

c. O musmcﬁasoeué (Se3gS) cdm:*b

d & adiressd gsol oy

a
(A) 1
(B) 3
(©) 3
(D) 2

Rl A= N [

= N Wi

3

it SR V) (=

Jr
2002
1986
1974
1981

N I

173) Black box used in aircrafts was invented by

(A) David Warren
(C) Thomas Adams

r carefull
Year
1. 2002
2. 1986
3. 1974
4. 1981
K)oégdo
1. 2002
2. 1986
3. 1974
4. 1981
-éh)ﬁ&bt}@n
oL
J!J:/M{J;:'Tulﬂ;bﬁk a
JIJ:#{JJHT/:IKA;VM b
-.*x.rll;if-JLJJ’L s
BN
(B) Moore

(D) Narumi Taniguchi

DR SODRB0E 2 eRBSO DB ERRoDOTRDH ?

(A) 58 235

(C) e sy

@;f*“d:) (D)
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egative marking is there, answe full

174) Weifare Geography emphasizes the analysis of

(A) Regional balanced development

(B) Public - private partnership in development

(C) Urban - industrial development

(D) Aspects of quality of life

D0gD g6t o0 B0 DI SeRinon?

(A) #rofiod e, @5

(B) epesged o6 - Howdko g0

(8] Digea o0 @aﬁa‘g&g

(D) dnso ding, g gl -%E’Jﬁj{gihflq,;'ﬁl;lﬁ
S Af g L3 ® ounrdee @A)

ML Lfis @ 26762 ©

175) Rajiv Gandhi Grameen Vidutikaran Yojana (RGGVY) was launched in the year?
‘oS o) rpamn D HEsR dired” K0, piodosodon?
o0l AT RGOV Y S B ssta S i €210

(A) 2005 (B) 2004 (C) 2006 (D) 2007
176) Which polymer is generally used in carry bags?
?Q’ (A) Polyester (B) Polyethylene
(C) Bakelite (D) Alkyl resin
528 trtHed® Prponomre oG RDDHE HO? 9
(A) @oags (B)” 00685
(C) @8ges (D) =9,5308 :
1 US Ll a1t LG
Cwzaf @) sk © 0 ® i@
177) Raindrops are spherical due to
. (A) Viscosity of water . (B) Surface tension
(C) Continuous evaporation (D) Air friction
SER) BoHO0 6 ReEod® GoterdS Ko SO
(A) Mosaag&a&gmu/ (B) sosss
(C) n¥osoeasH ardEtiao (D) oed g0 oo
%’56 4 ,?,Jﬁ.n(fds/.ﬁb’u?}i,
Son @ FJ © Jof @ vicosiyddy (a)
178) The Sensex is a market capitalisation weighted index of —————— component stocks.
PG BRSO ——————— Rpe SRS Dend G0, grs MRd
St 257 e KBS LS NSt S IS
(A) 30 (B) 40 (C) 25 (D) 20
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Negative marking is there, answer carefully

179) A steel ball floats on mercury because
(A) mercury does not allow any metallic ball to sink in it.
(B) mercury is also a metal in the liquid form.
(C) the density of mercury is higher than that of steel.
(D) asteel ball can be made to float on any liquid by suitable adjustment.
Len 208 FEEHEND Bowds e 26@0
(A) D gy wobPre REEDIS BISF S0 DELD.
(B) eestiaino gnte (55605088 & Siknib.
% (C) 56380 3w, g Heo RoEEL08 dks v
(D) o @08 myoe Heo VOB & BPEPOPS Vo BFER BADSD,
?,?JJLEL}:EIEI.C:,K}U}\-Q
ﬁ’d.)uﬂ;.’__)ﬁfxé_-(&lnf/u& (A)
‘L:AMJL,puL__fIqu!; (B)
‘:".u_l,.?r'_x:"d)ll;’dl}i:ﬁﬁ’(!uk (&)
et RSB I T susiy @)
180) Which of the following is the deepest sea port in India?
(A) Jawaharlal Nehru Port, Navi Mumbai  (B) Gangavaram Port
(C) Tuticorin Port (D) Dharma Port
&2 508 Tee3S® 08,08 B 2rtBRED) Pang HIESH HO7
(A) asweberd Jinm 615059, FRE N0 (B) &oissto &505
(C) bnasdod 5535 (D) ¢5om, &35
?ﬁ.gfﬁﬂkdqudP:M;ﬂdibn

Coient, (B) FIbiz g oz (A)

Woilps (D) o (©
181) Distances of air and sea travel are measured in units of nautical mile. One nautical-
mile equals.
RO RO a0 B SRoR TESES By 520D, &8 TEES Hob 308 H8mnio?
(A) 1.582km (B) 1.258 km
*((C) 1.852 kme.” (D) 1.528 km
-q_(}ngf};gﬁufﬂJJ:.dzﬂffaGLkd;.&‘v"u!m
?‘gbdeVdezﬂ.{f
K¥1258  (B) KE1582 (@A)
KE15% (D) xK1852 (©
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182) Who is the Chairman of 14" Finance Commission?
(A) Vijay kelkar (B) Rangarajan
(C) Y.V.Reddy (D) None of these
14 B 88 00500 DS BT )
(A) omohHdeb ;f\’;/\ (B) oticead
© YV.3§ of ! (D) outinss ) B
Spod i LY ey
H Ly @ Shedoet © s, @, Kz @
183) Which of the following rivers does not originate from the Western Ghats?
(A) Cauvery (B) Godavari (C) Krishna (D) Mahanadi
208 836 § 58 HAFO EIPF0D BHFHOBE? s
(A) =30 (B) 6&ceso C) &3 (D) “Eo@sse
Taﬁﬂcubbrdfkuw:(d-:JJCu
Sily (D) #=S (© dul)f (B) SoF (A
184) Gun-powder is a mixture of:
(A) nitrates of potassium and sodium
(B) sulphates of potassium and magnesium
(C) potassium sulphate and potassium nitrate
(D) charcoal, sulpher and potassium nitrate
55 Foes6 363 IR0 DodEN ?
(A) DoerpkoHo soaty F6Eohon JHoen
(B) pemtiabo socs Eofkiobon g
(CY Drantioho HES 6005 Feertiono HEES
(D) w8856, vef sHoam reripHo S Ce S L
.;,_M{f‘-""cm(feg (B) e AUty (A)

L el @) L medefry ©
185) If the father has blood group O and the mother has blood group AB, what are the
possible blood groups of Children?

Bog g, B0 (ngy ‘O’ Meakn $Y dng, v5o ) AB o, 708 Hi bye & v¥o

e 3 955I0 oD ?

WU s P 3 L 57 ABgs K3 £ Ui O b3 L its
(A) O,AB,A B) A0
(C) B,AB (D) AB
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186) Identify the correct sequence of the population of states (2011 provisional) in
descending order.
(A) Uttar Pradesh, Maharashtra, Bihar, West Bengal
(B) Uttar Pradesh, Maharashtra, West Bengal, Bihar
(C) Uttar Pradesh, West Bengal, Maharashira, Bihar
(D) Uttar Pradesh, Bihar, Maharashtra, West Bengal

2011 Eeeeds aran S50 HSPU0 m;"ge) BRRRORD BHEERR S0H @ELEDEHS DN SWDRD
tHoo50k.
(A) 6565 533, sodsog, 5086, HED Bored
(B) &85538, sosoeg, Hso Bores, asd
(©) 685383, HasH Bormd, ooy, B85
W (D) 685 5385, 5586, oisoeg, HAH Bord v
_é{iiiﬁg;}::lﬁ;‘.éﬂf;l:*{'}zkuLGJLTJ:./LJJLUJPrJfNH
' JEQA alg 1 Pty o Jogst (A
Mg d Fulgaagit B)
Mg Fuly JESHFHiy (©
JESHa Pl gt )
187) The Small Industries Development Bank of India (SIDBI) was set up in the year
5.0 aoc%ﬁ BseBRoces 22,08 &5 nodai (SIDBI) & dosgsod’ ddbosadon?
o 2 UL P ESIDBDLLST B eod g3 2 21

(A) 1960 (B). 1970 (C) 1990 (D) 1980
188) Which of the following committees was constituted to improve the consumer service
in banks in India?

(A) Deepak Mohanty (B) S.C. Gupta (C)Goiporia (D) Rakesh Mohan

FRUBEE0SRD 27,0588 DOCIRGIRIO DO FDIHEE §90 L0 HIRDOBES Do

s50d) 8 800 eI Ha 7

(A) 635 ab08 (B) SCog_ (C)sfapatoate (D) ocodhidmins
b F S ITKS S b S of o s L s 1

grfu @ Wl o Wed ® b »

189) Point out the disease which is not spread directly from one human case to another

(A) Measles (B) Tetanus
(C) Diphtheria (D) Pulmonary tuberculosis
8of) apiid’ O o d 8 H8 ok 6% 583 HEHom HOBIoSD ?
(A) s . (B) gaooeggo
(C) Bosarssn . (D) 4ebodasd Howchodd Fah
Zhsi EJ{_J')’(SJ'-QJIJE”J‘.‘;gP"c—#lqu../:)c_.dLJIé
4 @ L © L @ @)
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190) Which of the following is a geostationary satellite?

(A) Landsat (B) IRS (C) Insat (D) SPOT
£08 mi3S° AIngSS GO0 DO?
(A) enoBanes (B) IRS (C) adz=es (D) SPOT

S U $ B2 2 580

L1 (D Ty LTET B L
191) The Equal Pa}i’F’Act(ca)me into force m(t?l)e year AT O Al

IR B85 Bho & HosBTo ©sHE SQon? "
5 ® W oS B

(A) 1963 (B) 1964 (C) 1965 (D) 1966
192) Which of the following commodity is not having a commodity board in India?
(A) Coffee (B) Tea (C) Rubber (D) Wheat
BSOS 58 B0 Te3S® EIRES B B0 SERAS B
A) =b (B) & , (C) “o8 (D) &goso
e ol L IEVE S 5B s st
uri O 45 (Q) by ® 3¢ ()
193) Which protein is essential for blood clotting?
(A) Prothrombin (B) Heparin (C) Fibrinogen (D) Hemolysis
50 5EERm0S Hresomn oSt S 507
K (A) sgroast” (B) ammes  (C) pgsas (D) inangs
?‘;dﬂ:.n,;'d/c)"hciféj_éii_nfu}
VT D) Wi (© gy B ki iy @A)

194) The correct sequence of states in terms of population density (2011 provisional
census) in descending order is
(A) Kerala, West Bengal, Bihar, Uttar Pradesh
(B) Bihar, Kerala, Uttar Pradesh, West Bengal
(C) Kerala, Bihar, West Bengal, Uttar Pradesh
(D) Bihar, West Bengal, Kerala, Uttar Pradesh
2011 BemedS ameir S5 H5etio, oo BSPOGEOD @56t Kot DEDGES DI
SE0D tHE0SEE. '
(A) B6%, 85 Boced, 5555, 6365 538
(B) 2585, Soe, 686 938, HasH Soms
(C)  Bow, 56, a0 Bos, 686 635
(D) 8256, B350 Bornd, 86, 685 HBS .
_@J%}JQPLJLBUJ.)'Jdﬂffd;}l‘é’z&&'5(54?(:/201]
‘ FogFugded T a)
JEJ A K g2l Ll (B
FagidEd o (©
;.,‘d%}nu,a’.dﬁq,#ugq (D)
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195) Usually animal cells are preserved at what temperature?
BOBEPOR PEPOHOT D SRES 5t DeSRD?

"‘f‘r”*’l]?”{—ﬁau“ﬂé’{/’brl‘

(A) 0°C

(B) -196°C
(C) -10°C
(D) —196°F

196) Excessive eating is termed as
(A) Polyphagia
(B) Polydipsia
(C) Polyusia
(D) None of these

9314 (Set-C)

B3P 83 Y HIOLRHD ?
(A) aeBnBomm
(B) adagoin
(C) adatmbotn
(D) 56z
Sur ;’.’L«ffgfdl:'fﬂm wlic e
F ety (D) L2df (© Wy ®  Ydy @)
197) What is the pH value of soft drinks?
(A) 52t05:6 (B) 34t036
(C) 2t04 (D) 5.5106.8
R0k By, pH Deos oos?
(A) 5.2 %0856 (B) 3.4 0836
(C) 20&4 (D) 5.5 &0& 6.8
Ce e d pHd £l
36F34 (B) 56652 (A)
68655 (D) a2 ©
58
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198) Match the following lists
Diseascs Type of diseasc

'}6’ a.  Hacmophilia 1. Deficiency discase
b.  Diabetes 2. Genetic discasc
c.  Rickets 3. Tarmonal disorder
d.  Ringworm 4. Fungal infection
200 o ascahod
aRen an ) BESw
a.  IaErpdam L. SGss5e8an6
b.  sotpidaesn A 2. afRomos sy
¢ o8 1 3. 6T oS
d. =5 u 4.7 3905 eotwand
“EbinlJits
SIS g
Sl Wy
: 3 bz 2 JH b
ﬂ = E = . 3 ]
(A) 203 4 1 =AU s S
Eg; v’ 2 3 1 4 U’GU’:" 4 bk, 4
3 2 1 4 :
(D) 32 4
199) Which of the following is located in Rupnarainpur of West Bengal?
(A) Bharat Aluminium Factory (B) Hindustan Copper Plant
(C) Indian Telephone Industry (D) Hindustan Cablc Factory
DA Do KD TgRa0S HRESE 51 Bod aredes HB) Sesenion?
(A) 2n88 vor RO B0, R0 (B) 2rotoded 5206 &roes
(C) erts 59858 E00,m0a (D) 2rotHieS Sand Sos,mets0

?efﬁ'aﬁ"@fu:J..i(':/uuf-‘{cf'-fh;’iédg‘:dfy
d}gdf-(u'?wf D) ¢ pryiterz (© Lk KUk (B) d)é'r'f,»'l._-,,u_ (A)
200) As per 2011 census, an urban scttlement to be classified as a city in the Indian
census should have a minimum population of

(A). Tlakh (B) 3 lakhs (C) 5 lakhs (D) 10 lakhs
2011 Bamgn 85,0 Hsetio, 258 Dies Poomeg) SHEOMR SHED0wRO0E ED:D BaPR 0B SoED?
(AY leg (B) 3egw (C) 5eogm (D) 10 eges

_é“,.g(}nu';(d:l,fﬁlff_.ﬁz__ulfdef;.?ﬁd;kﬁpfzml
£U10 (D) 595 (C) 513 (®B) FU1 (A
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